
Total Synthesis of (+)-Condylocarpine, (+)-Isocondylocarpine, and 

(+)-Tubotaiwine

Connor L. Martin, Seiichi Nakamura, Ralf Otte, and Larry E. Overman*

Contribution from the Department of Chemistry, 1102 Natural Sciences II, University of

California, Irvine, California 92697-2025

Experimental Procedures pages 1 14

NMR Spectra and HPLC Chromatograms pages 15 46

Materials and Methods. Reactions were performed in oven-dried glassware under a positive 

pressure of nitrogen or argon. Dichloromethane, methanol, toluene, and DMSO were dried by 

passage through columns packed with activated alumina or molecular sieves. Tetrahydrofuran

was dried and deoxygenated by distillation from sodium/benzophenone ketyl. Thin layer 

chromatography was performed on Silicycle 60 Å F-254 pre-coated silica gel plates. TLC plates 

were visualized by exposure to UV light (254 nm) or a combination of p-anisaldehyde or ceric 

ammonium sulfate (CAS) staining. Flash column chromatography was performed using normal-

phase silica gel (60 Å, 230 400 mesh, Silicycle SiliaFlash P60) or reverse-phase C18 silica gel 

(125 Å, 55 105 mesh, Waters). Neutralized silica gel was prepared by adding 5 wt % of pH 7 

phosphate buffer solution to normal-phase silica gel and mixing by rotation in a round-bottom 

flask overnight. Normal-phase HPLC was performed using a 250 mm x 22 mm Alltima Silica

( ) column. NMR spectra were recorded with Brucker Advanced spectrometers at 500 MHz 

or 600 MHz as indicated. 13C spectra were recorded at 125 MHz and hydrogen multiplicities 

were determined by HMQC correlation. Chemical shifts are reported in ppm relative to peaks 

corresponding to residual protons of the deuterated solvents unless otherwise indicated. Optical 

rotations were recorded with a Jasco P-1010 polarimeter. Infrared spectra were recorded using 

ASI ReactIR 1000 or Varian 800-IR spectrometers. High resolution mass spectra were obtained 

from the UC Irvine Mass Spectrometry Facility. Abbreviations used can be found on the Internet 

at http://pubs.acs.org/paragonplus/submission/joceah/joceah_abbreviations.pdf.

Supporting Information S1



Tetracyclic Ethylidene (±)-8. A solution of potassium tert-butoxide (1.04 g,

9.23 mmol) in 10 mL of THF was added by cannula transfer to a 0 °C 

suspension of ethyltriphenylphosphonium bromide (3.64 g, 9.81 mmol,

azeotropically dried with toluene) and 40 mL of toluene. The resulting red 

suspension was allowed to warm to room temperature and stirred for 2 h. A 

solution of tetracyclic ketone (±)-7a (0.506 g, 1.14 mmol) in 5 mL of THF was then added by

cannula transfer, and the residue in the transfer vessel was washed into the reaction mixture with

an additional 2 mL of THF. The resulting mixture was stirred for 45 min at room temperature,

before it was diluted with 20 mL of a saturated aqueous solution of NH4Cl and 20 mL of EtOAc.

The phases were separated and the aqueous phase was extracted with EtOAc (2 x 20 mL). The 

combined organic layers were washed with brine (1 x 10 mL), dried with MgSO4, and 

concentrated in vacuo to afford 2.8 g of an orange oil. This residue was purified by flash silica 

gel chromatography (15% 25% EtOAc in hexanes) to afford 0.38 g (73%) of (±)-8 as a tan

foam: 1H NMR (600 MHz, CDCl3, mixture of r of major rotamer), 8.53 (s, 

1H of minor rotamer), 7.84 (d, J = 7.9 Hz, 1H of minor rotamer), 7.65 (d, J = 8.0 Hz, 1H of 

major rotamer), 7.41 (d, J = 8.2 Hz, 1H of major rotamer), 7.37 (d, J = 8.0 Hz, 1H of minor 

rotamer), 7.25 7.21 (m, 1H of both rotamers), 7.17 7.12 (m, 1H of both rotamers), 6.42 (s, 1H

of minor rotamer), 6.28 (s, 1H of major rotamer), 5.62 5.56 (m, 1H of both rotamers), 3.85 (s, 

3H of both rotamers),  3.81 (dd, J = 13.9, 5.7 Hz, 1H of major rotamer), 3.72 (s, 3H of both 

rotamers), 3.61 3.56 (m, 1H of minor rotamer), 3.57 (d, J = 3.6 Hz, 1H of both rotamers), 2.84 

(app t, J =13.8 Hz, 1H of minor rotamer), 2.78 (app t, J = 13.5, 1H of major rotamer), 2.04 1.94 

(m, 1H of both rotamers), 1.83 1.80 (m, 3H of both rotamers), 1.63 (s, 9H of major rotamer), 

1.63 1.56 (m, 1H of both rotamers), 1.42 (s, 9H of minor rotamer); 13C NMR (125 MHz, CDCl3,

mixture of rotamers C), 168.8 (C), 168.1 (C), 168.0 (C), 154.7 (C), 153.9 (C), 136.9 

(C), 134.8 (C), 134.3 (C), 130.0 (C), 129.7 (C), 124.8 (C), 124.7 (C), 123.1 (CH), 123.1 (CH), 

120.4 (CH), 120.1 (CH), 120.0 (CH), 119.8 (CH), 119.2 (CH), 119.1 (CH), 113.5 (C), 112.7 (C), 

111.6 (CH), 111.2 (CH), 79.9 (C), 79.5 (C), 60.5 (C), 60.3 (C), 53.33 (CH3), 53.26 (CH3), 44.6 

(CH), 43.5 (CH), 42.7 (CH), 42.6 (CH), 37.5 (CH2), 36.1 (CH2), 30.7 (CH2), 30.6 (CH2), 28.9 

(CH3), 28.6 (CH3), 13.6 (CH3), 13.4 (CH3); IR (thin film) 3204, 1737, 1671, 1457, 1414, 1250,

1227, 1150, 909 cm-1; HRMS (ESI-TOF) m/z calcd for C25H30N2O6Na (M+Na)+ 477.2002, 

found 477.2001.

NBoc

N
H CO2Me

CO2Me

( )-8
C25H30N2O6

Mol. Wt.: 454.52

Supporting Information S2



2-tert-Butyl 5,5-dimethyl 1-methyl-4,4a-dihydro-1H-pyrido[4,3-

b]carbazole-2,5,5(3H,6H)-tricarboxylate ((±)-9). A solution of 

ethylidene (±)-8 (40 mg, 0.088 mmol), AcCl (0.6 μL, 8 μmol), and 

CD3OD (0.5 μL, 10 μmol) in 2.3 mL of CDCl3 was maintained at room 

temperature and monitored by 1H NMR.1 After 1.5 h, the solution was 

concentrated in vacuo to afford 42 mg of an orange oil. This residue was purified by flash silica 

gel chromatography (20 25% EtOAc in hexanes) to afford 32 mg (80%) of (±)-9 as a colorless 

foam: 1H NMR (500 MHz, DMSO-d6, 70 °C)  11.1 (s, 1H), 7.59 (d, J = 7.9 Hz, 1H), 7.43 (d, J

= 8.2 Hz, 1H), 7.11 (t, J = 7.6 Hz, 1H), 7.03 (t, J = 7.5 Hz, 1H), 6.60  (app s, 1H), 4.74 (q, J = 

6.3 Hz, 1H), 3.74 (s, 3H), 3.71 (s, 3H), 3.47 (dt, J = 13.3, 7.0 Hz, 1H), 3.29–3.20 (m, 2H), 1.98–

1.93 (m, 1H), 1.85–1.79 (m, 1H), 1.46 (s, 9H), 1.37 (d, J = 6.6 Hz, 1H); 13C NMR (125 MHz, 

DMSO-d6, 70 °C)  168.4 (C), 167.5 (C), 154.0 (C), 136.6 (C), 131.5 (C), 126.9 (C), 123.3 (C), 

121.3 (CH), 119.0 (CH), 117.6 (CH), 113.5 (CH), 111.7 (CH), 110.8 (C), 78.3 (C), 58.7 (C), 

52.8 (CH3), 52.7 (CH), 52.1 (CH3), 40.6 (CH), 38.9 (CH2), 27.8 (CH3), 23.2 (CH2), 19.7 (CH3);

IR (thin film) 3396, 3321, 1737, 1675, 1412, 1258, 1169 cm-1; HRMS (ESI-TOF) m/z calcd for 

C25H30N2O6Na (M+Na)+ 477.2002, found 477.1982. 

Di-tert-butyl 2,3-dihydropyrrolo[3,2-b]carbazole-1,4(5H)-dicarboxylate 

(10). A solution of (±)-7b (40 mg, 0.076 mmol), AcCl (6 μL, 0.08 mmol), and 

CD3OD (7 μL, 0.2 mmol) in 0.50 mL of CDCl3 was maintained at room 

temperature and monitored by 1H NMR. After 2 h,2 the solution was 

concentrated in vacuo to afford 44 mg of a brown oil. This residue was 

purified by flash silica gel chromatography (5% 25% EtOAc in hexanes) to afford 17 mg 

(55%) of 10 as a pale yellow amorphous solid: 1H NMR (500 MHz, CDCl3, mixture of rotamers) 

 9.92 (s, 1H of both rotamers), 8.84 (br s, 1H of major rotamer), 8.40 (br s, 1H of minor 

rotamer), 8.08 (br s, 1H of major rotamer), 7.99 (br s, 1H of minor rotamer), 7.45–7.39 (m, 2H of 

both rotamers), 7.22 (t, J = 7.2 Hz, 1H of both rotamers), 4.09 (br s, 2H of both rotamers), 3.56 

(br s, 2H of both rotamers), 1.70 (s, 9H of both rotamers), 1.62 (br s, 9H of both rotamers); 13C

NMR (125 MHz, CDCl3, only the major rotamer is reported)  167.1 (C), 153.0 (C), 140.0 (C), 

1 After 1 h, the ratio of 9:8 was 11:1, and only ~10 mol % of the AcCl had undergone methanolysis. 
2 This reaction was not run to full conversion of 7b, and 10 mg (25%) of this starting material was recovered after 
column chromatography.  

NBoc

MeO2C CO2Me

N
H

(±)-9
C25H30N2O6

Mol. Wt.: 454.52

N
H

Boc
N

CO2t -Bu
10

C24H28N2O4
Mol. Wt.: 408.49

Supporting Information S3



137.0 (C), 132.9 (C), 126.0 (CH), 123.9 (C), 122.9 (C), 120.7 (CH), 119.6 (CH), 111.2 (CH), 

111.1 (CH), 82.3 (C), 80.5 (C), 48.3 (CH2), 30.1 (CH2), 28.8 (CH3), 28.7 (CH3); IR (thin film) 

3444, 2975, 1684, 1453, 1392, 1330, 1142 cm-1; HRMS (ESI-TOF) m/z calcd for C24H28N2O4Na 

(M+Na)+ 431.1947, found 431.1932.

2-(1-Carboxy-3-hydroxy-9H-carbazol-2-yl)ethanaminium trifluoro-

acetate (11). A solution of ketone (±)-7b (0.140 g, 0.265 mmol) in 5 mL 

of TFA was maintained for 4 h at room temperature. This solution was 

then concentrated in vacuo and the residue was purified by reverse phase 

C18 chromatography (0% 20% 40% MeOH in H2O with 1% TFA) to afford 0.064 g (63%) of 

11 as a yellow foam: 1H NMR (500 MHz, CD3OD 7 (d, J = 8.0 Hz, 1H), 7.76 (s, 1H), 7.53

(d, J = 8.0 Hz, 1H), 7.37 (app t, J = 8.0 Hz, 1H), 7.15 (app t, J = 8.0 Hz, 1H), 3.53 (d, J = 7.2 Hz, 

1H), 3.31 (d, J = 7.2 Hz, 1H coincident with CD2HOD peak); 13C NMR (125 MHz, CD3

170.5 (C), 150.4 (C), 142.1 (C), 136.1 (C), 127.4 (CH), 125.4 (C), 125.3 (C), 123.3 (C), 120.9 

(CH), 120.1 (CH), 114.8 (C), 112.5 (CH), 111.0 (CH), 41.4 (CH2), 27.3 (CH2); IR (thin film)

3455, 3036, 1668, 1489, 1437, 1185, 1140 cm-1; HRMS (ESI-TOF) m/z calcd for C15H15N2O3

(M+H CF3CO2)+ 271.1083, found 271.1092.

Tetracyclic Alcohol (1S,5R)-i. Sodium borohydride (143 mg, 3.76 mmol) 

was added to a 0 °C solution of ketone (1S,5R)-7b (1.98 g, 3.76 mmol, 91% 

ee) in 40 mL of methanol and THF (1:1 v/v). This mixture was stirred for 10 

min at 0 °C, before TFA (0.87 mL, 11.3 mmol) was added and the mixture 

allowed to warm to room temperature. The resulting solution was concentrated 

in vacuo to afford 3.3 g of crude (1S,5R)-i as a colorless oil, which was of sufficient purity to be 

used in the next step without further purification.

An analytical sample of (1S,5R)-i was prepared following the procedure described above 

with a modified quench and purification. Sodium borohydride (2 mg, 0.05 mmol) was added to a 

0 °C solution of ketone (1S,5R)-7b (29 mg, 0.055 mmol, 91% ee) in 0.6 mL of methanol and 

THF (1:1 v/v). The mixture was stirred for 10 min at 0 °C, before it was quenched with acetic 

acid (3 drops) and allowed to warm to room temperature. The resulting solution was diluted with 

2 mL of EtOAc and 1 mL of a saturated aqueous solution of NaHCO3. The layers were separated 

NBoc

N
H CO2t-Bu

CO2t-Bu

HHO

(1S,5R)-i
C29H40N2O7
MW: 528.63

N
H CO2H

NH3
+

OH

11
C17H15F3N2O5

Mol. Wt.: 384.31

CF3CO2

Supporting Information S4



and the aqueous layer was extracted with EtOAc (2 x 1 mL). The combined organic layers were 

dried with MgSO4 and concentrated in vacuo to afford 31 mg of a colorless solid. This residue 

was purified by flash silica gel chromatography (10 20% EtOAc in hexanes) to afford 27 mg 

(93%) of (1S,5R)-i as a colorless foam: 24
589 + 69.6 24

577 + 70.3 24
546 + 79.7, 24

435 +

124.2, 24
405 + 140.1 (c 0.31, CH2Cl2, 91% ee); 1H NMR (500 MHz, CDCl3, mixture of 

rotamers 8.39 (s, 1H of both rotamers), 7.79 (d, J = 7.9 Hz, 1H of minor rotamer), 7.68 (d, J =

8.0 Hz, 1H of major rotamer), 7.39 (d, J = 8.2 Hz, 1H of major rotamer), 7.37 (d, J = 8.4 Hz, 1H 

of minor rotamer), 7.23 7.19 (m, 1H of both rotamers), 7.14 7.09 (m, 1H of both rotamers), 5.71 

(d, J = 2.9 Hz, 1H of minor rotamer), 5.58 (d, J = 3.1 Hz, 1H of major rotamer), 4.28 (d, J = 2.8 

Hz, 1H of both rotamers), 3.84 (d, J = 2.1 Hz, 1H of major rotamer), 3.70 (dd, J = 13.3, 5.2 Hz,

1H of major rotamer), 3.53 3.48 (m, 1H of minor rotamer), 3.48 (s, 1H of minor rotamer), 3.23 

(app s, 1H of both rotamers), 2.54 2.46 (m, 1H of both rotamers), 1.97 1.91 (m, 1H of both 

rotamers), 1.72 (app d, J = 14.3 Hz, 1H of both rotamers), 1.60 (s, 9H of major rotamer); 1.55 (s, 

9H of both rotamers), 1.51 (s, 9H of both rotamers), 1.41 (s, 9H of minor rotamer); 13C NMR 

(125 MHz, CDCl3, mixture of rotamers 170.3 (C), 169.9 (C), 168.3 (C), 168.1 (C), 154.8 (C), 

154.4 (C), 136.9 (C), 128.3 (C), 128.1 (C), 126.2 (C), 122.9 (CH), 122.8 (CH), 120.6 (CH), 

119.9 (CH), 119.8 (CH), 119.7 (CH), 111.2 (CH), 110.9 (CH), 110.3 (C), 110.0 (C), 84.9 (C), 

84.5 (C), 83.6 (C), 83.4 (C), 80.2 (C), 79.7 (C), 71.1 (CH), 70.9 (CH), 59.0 (C), 58.9 (C), 48.8 

(CH), 47.7 (CH), 38.0 (CH), 37.9 (CH), 36.2 (CH2), 34.8 (CH2), 28.8 (CH3), 28.5 (CH3), 28.09 

(CH3), 28.07 (CH3), 27.7 (CH2), 27.5 (CH2); IR (thin film) 3390, 1706, 1675, 1368, 1287, 1254, 

1159, 1141 cm-1; HRMS (ESI-TOF) m/z calcd for C29H40N2O7Na (M+Na)+ 551.2733, found

551.2750.

Amino Acid S1. The crude tetracyclic alcohol (1S,5R)-i described in the 

preceding section was dissolved in 125 mL of TFA and water (4:1 v/v), and 

the resulting solution was maintained at room temperature for 13 h, before it 

was concentrated in vacuo to afford 3.0 g of S13 as a brown oil. This crude 

material was of sufficient purity to be use in the next step without further 

purification. Diagnostic data: 1H NMR (600 MHz, CD3OD 7.59 (d, J = 7.9 Hz, 1H), 7.41 (d, 

J = 8.1 Hz, 1H), 7.15 (t, J = 7.3 Hz, 1H), 7.09 (t, J = 7.2 Hz, 1H), 4.94 (d, J = 3.1 Hz, 1H), 4.41 

3 Amino acid S1 was formed as a single diastereomer whose relative configuration was not determined.

NH2
+

N
H CO2H

HHO

S1
C17H17F3N2O5

Mol. Wt.: 386.32

H
CF3CO2

Supporting Information S5



(t, J = 3.4 Hz, 1H), 4.36 (d, J = 5.9 Hz, 1H), 2.94 (dd, J = 12.9, 4.6 Hz, 1H), 2.86 (app s, 1H), 

2.81 (td, J = 13.4, 4.1 Hz, 1H), 2.09 2.03 (m, 1H), 1.97 (app d, J = 15.4 Hz, 1H).

Amino Ester 17. A 0.50 M solution of methanolic HCl was prepared by adding 

thionyl chloride (2.7 mL, 37 mmol) to 150 mL of methanol at 0 °C. This 

solution was added to the crude amino acid S1 described in the preceding 

paragraph, and the resulting solution was maintained at 50 °C for 2.5 h. This 

solution was then concentrated in vacuo to afford a brown solid, to which a 

mixture of 20 mL of EtOAc and 15 mL of a saturated aqueous solution of NaHCO3 was added. 

The mixture was stirred vigorously for 30 min and then filtered. The layers of the filtrate were 

separated and the aqueous layer was extracted with EtOAc (9 x 15 mL). The combined organic 

layers were dried with MgSO4 and concentrated in vacuo to afford 0.92 g (86% from (1S,5R)-7b)

of 17 as a light brown foam, which was of sufficient purity to be used in the next step without 

further purification. Diagnostic data: NMR (500 MHz, CD3OD, 2:1 mixture of ester epimers) 

7.55 (d, J = 7.7 Hz, 1H of minor epimer), 7.54 (d, J = 7.8 Hz, 1H of major epimer), 7.35 (app t, J

= 7.6 Hz, 1H of both epimers), 7.11 7.06 (m, 1H of both epimers), 7.03 6.99 (m, 1H of both 

epimers), 4.40 (d, J = 2.6 Hz, 1H of major epimer), 4.38 (d, J = 2.9 Hz, 1H of minor epimer), 

4.23 (t, J = 3.6 Hz, 1H of major epimer), 4.17 (t, J = 3.6 Hz, 1H of minor epimer), 3.83 (s, 1H of 

minor epimer), 3.82 (s, 3H of major epimer), 3.76 (s, 1H of major epimer), 3.74 (s, 3H of minor 

epimer), 3.03 3.01 (m, 1H of minor epimer), 2.74 2.71 (m, 1H of major epimer), 2.54 (td, J =

13.1, 3.4 Hz, 1H of major epimer), 2.49 2.44 (m, 1H of both epimers), 2.30 (td, J = 13.3, 3.5 Hz, 

1H of minor epimer), 2.00 1.92 (m, 1H of minor epimer), 1.86 1.78 (m, 1H of both epimers), 

1.60 (app d, J = 14.4 Hz, 1H of major epimer).

Reaction of (±)-i with a 0.15 M solution of DCl. A solution of (±)-i (40 mg, 0.076 mmol), AcCl 

(6 μL, 0.08 mmol), and CD3OD (7 μL, 0.2 mmol) in 0.50 mL of CDCl3 was maintained at room 

temperature for 2 h. Triethylamine (13 μL, 0.093 mmol) and 1,3,5-trimethoxybenzene (NMR

internal standard, 93 μL of a 0.26 M solution in CDCl3, 0.024 mmol) were then added, and the 

solution was analyzed by 1H NMR. This analysis revealed that the Boc deprotection product, (±)-

(±)-ii, was formed in 36% yield.4

4 This analysis indicated that 48% of (±)-i remained unreacted.

NH

N
H

HHO

17
C16H18N2O3

Mol. Wt.: 286.33

CO2Me

Supporting Information S6



Tetracyclic amino di-tert-butyl malonate (±)-ii. An analytical sample was 

obtained by repeating the above procedure without quenching with 

triethylamine, but instead washing the reaction solution with a saturated 

aqueous solution of NaHCO3, concentrating the organic layer in vacuo, and 

purifying the residue by flash silica gel chromatography (6% 8% MeOH in 

CH2Cl2 with 1% aq NH4OH): 1H NMR (500 MHz, CDCl3 J = 7.8 Hz, 

1H), 7.40 (d, J = 8.2 Hz, 1H), 7.21 (t, J = 7.6 Hz, 1H), 7.12 (t, J = 7.5 Hz, 1H), 4.47 (d, J = 2.3 

Hz, 1H), 4.38 (t, J = 3.3 Hz, 1H), 3.57 (br s, 1H), 3.22 (app d, J = 3.1 Hz, 1H), 2.49 2.41 (m, 

2H), 1.96 1.88 (m, 1H), 1.72 1.63 (m, 2H, coincident with signal arising from residual H2O), 

1.54 (s, 9H), 1.51 (s, 9H); 13C NMR (125 MHz, CDCl3 170.2 (C), 168.5 (C), 137.2 (C), 128.3 

(C), 126.1 (C), 122.7 (CH), 119.7 (CH), 118.7 (CH), 111.3 (CH), 111.2 (C), 84.5 (C), 83.3 (C), 

72.0 (CH), 59.5 (C), 50.3 (CH), 38.8 (CH), 36.5 (CH2), 28.7 (CH2), 28.1 (CH3), 28.1 (CH3); IR 

(thin film) 3487, 1730, 1710, 1457, 1369, 1278, 1255, 1157, 1142 cm-1; HRMS (ESI-TOF) m/z

calcd for C24H33N2O5 (M+H)+ 429.2390, found 429.2378.

Tertiary Amine 18. A sample of the crude amino ester 17 (0.824 g, 2.88 

mmol) described in the preceding section was combined with 2,2-

bis(ethylthio)acetaldehyde5 (0.95 mL, 5.8 mmol) in 21 mL of methanol.6

The resulting solution was maintained for 20 h at room temperature, before 

NaCNBH3 (0.236 g, 3.75 mmol) and bromocresol green indicator (~1 mg) 

were added. The pH of the resulting solution was adjusted with a 0.5 M solution of HCl in 

methanol until the solu

periodically added to maintain this orange color over 30 min, after which time the solution was 

diluted with 60 mL of EtOAc and 15 mL of a saturated aqueous solution of NaHCO3. The layers 

were separated and the aqueous layer was extracted with EtOAc (2 x 20 mL). The combined 

organic layers were dried with MgSO4 and concentrated in vacuo to afford 1.76 g of a yellow oil. 

This residue was purified by flash silica gel chromatography (25% acetone in hexanes) to afford 

5 For preparation of this aldehyde, see: Bates, G. S.; Ramaswamy, S. Can. J. Chem. 1983, 61, 2466 2475. The 
aldehyde was purified by flash silica gel chromatography (0 10% Et2O in hexanes) immediately prior to use in 
order to remove 2-(ethylthio)-2-hydroxyacetaldehyde, which is a contaminant that leads to the formation of a major 
byproduct during the reductive alkylation step.
6 This step was performed under an argon atmosphere with methanol that was degassed prior to use.

N

N
H

HHO
SEt

SEt

18
C22H30N2O3S2

Mol. Wt.: 434.62

CO2Me

NH

N
H CO2t-Bu

CO2t-Bu

HHO

( )-ii
C24H32N2O5

Mol. Wt.: 428.52

Supporting Information S7



0.87 g (70%) of 18 as a colorless foam. Analysis by 1H NMR spectroscopy indicated that 18 was 

formed as a 1:0.8 mixture of ester epimers.

Analytical samples of each diastereomer were obtained by normal phase HPLC (5% EtOAc 

in hexanes). The major diastereomer, 18a, was obtained as a colorless foam: 23
589 1.76,

23
577 2.58 23

546 4.98, 23
435 23.9, 23

405 33.5 (c 0.37, CH2Cl2); 1H NMR (500

MHz, CDCl3 8.66 (s, 1H), 7.57 (d, J = 7.9 Hz, 1H), 7.37 (d, J = 8.0 Hz, 1H), 7.19 (t, J = 7.2 

Hz, 1H), 7.13 (t, J = 7.3 Hz, 1H), 4.37 (app t, J = 3.6 Hz, 1H), 4.30 (d, J = 3.4 Hz, 1H), 4.26 (d, J

= 5.8 Hz, 1H), 3.85 (s, 3H), 3.10 (dd, J = 13.3, 7.8 Hz, 1H), 2.81 (app s, 1H), 2.79 2.60 (m, 4H), 

2.54 (dd, J = 13.3, 7.8 Hz, 1H), 2.44 (dd, J = 10.9, 3.7 Hz, 1H), 1.99 (td, J = 12.4 Hz, 3.1 Hz, 

1H), 1.96 1.88 (m, 1H), 1.70 1.59 (m, 2H, overlaps with signal arising from residual H2O), 1.30 

(t, J = 7.4 Hz, 3H), 1.25 (t, J = 7.4 Hz, 3H); 13C NMR (125 MHz, CDCl3 173.3 (C), 137.0 (C), 

132.1 (C), 128.3 (C), 122.2 (CH), 120.2 (CH), 119.1 (CH), 111.3 (CH), 104.4 (C), 71.5 (CH), 

62.0 (CH2), 57.4 (CH), 52.5 (CH3), 50.2 (CH), 43.4 (CH2), 40.9 (CH), 36.0 (CH), 27.3 (CH2), 

24.7 (CH2), 24.6 (CH2), 14.9 (CH3), 14.8 (CH3); IR (thin film) 3391, 1728, 1460, 1448, 1300, 

1265, 1204, 1160 cm-1; HRMS (ESI-TOF) m/z calcd for C22H31N2O3S2 (M+H)+ 435.1776, found

435.1764.

The minor diastereomer, 18b, was obtained as a colorless foam: 23
589 53.3 23

577

56.0 23
546 61.8, 23

435 99.0, 23
405 108.4 (c 0.51, CH2Cl2); 1H NMR (500 MHz, 

CDCl3 8.37 (s, 1H), 7.60 (d, J = 7.9 Hz, 1H), 7.37 (d, J = 8.0 Hz, 1H), 7.20 (t, J = 6.7 Hz, 1H), 

7.14 (t, J = 7.4 Hz, 1H), 4.32 (app s, 2H), 4.05 (t, J = 7.0 Hz, 1H), 3.82 (s, 3H), 3.74 (s, 1H), 3.14 

(dd, J = 13.3, 7.5 Hz, 1H), 2.97 (app s, 1H), 2.81 2.63 (m, 5H), 2.55 (dd, J = 13.3, 6.6 Hz, 1H), 

2.54 2.48 (m, 1H), 2.13 1.98 (m, 2H), 1.70 (app d, J = 11.5 Hz, 1H), 1.31 (t, J = 7.4 Hz, 3H), 

1.26 (t, J = 7.4 Hz, 3H); 13C NMR (125 MHz, CDCl3 173.8 (C), 136.8 (C), 130.7 (C), 128.5 

(C), 122.4 (CH), 120.3 (CH), 119.5 (CH), 111.1 (CH), 106.3 (C), 70.4 (CH), 62.1 (CH2), 57.0 

(CH), 53.3 (CH3), 50.2 (CH), 43.59 (CH), 43.57 (CH2) 35.7 (CH), 31.6 (CH2), 24.7 (CH2), 24.6 

(CH2), 14.84 (CH3), 14.82 (CH3); IR (thin film) 3387, 1718, 1458, 1300, 1266, 1200, 1175, 1163 

cm-1; HRMS (ESI-TOF) m/z calcd for C22H31N2O3S2 (M+H)+ 435.1776, found 435.1775.

Supporting Information S8



Pentacyclic Thioether 19. A suspension of dimethyl(methylthio)sulfonium 

tetrafluoroborate (DMTSF, 0.447 g, 2.28 mmol) and activated 4Å molecular 

sieves (3.8 g) in 250 mL of CH2Cl2 was stirred for 1 h. Separately, a mixture of 

tertiary amine 18 (0.825 g, 1.90 mmol) and activated 4Å molecular sieves (1.8 

g) in 70 mL of CH2Cl2 was stirred for 1 h. The mixture containing 18 was then 

transferred by cannula into the suspension containing DMTSF, and the resulting mixture was 

stirred at room temperature for 20 min. This mixture was then diluted with 30 mL of a saturated 

aqueous solution of NaHCO3 and filtered through a pad of Celite. The layers of the filtrate were 

separated and the aqueous layer was extracted with CH2Cl2 (2 x 30 mL). The combined organic 

layers were dried with MgSO4 and concentrated in vacuo to afford 0.78 g of a brown oil. This 

residue was purified by flash silica gel chromatography (5% MeOH in CH2Cl2) to afford 0.53 g 

(75%) of 19 as a colorless foam:7 24
589 + 685.8 24

577 + 733.6 24
546 + 887.9, 24

435 +

2333, 24
405 + 2944 (c 1.04, CHCl3, >99% ee); 1H NMR (600 MHz, CDCl3 8.82 (s, 1H)

7.18 7.14 (m, 2H), 6.93 (t, J = 7.4 Hz, 1H), 6.81 (d, J = 7.7 Hz, 1H), 4.16 (app t, J = 3.0 Hz, 

1H), 4.00 3.97 (m, 2H), 3.77 (s, 3H), 3.29 3.25 (m, 2H), 3.02 (dt, J = 12.0, 4.5 Hz, 1H), 2.87 (t, 

J = 11.7 Hz, 1H), 2.47 2.42 (m, 1H), 2.28 (dq, J = 12.4, 7.4 Hz, 1H), 2.22 (dq, J = 12.4, 7.4 Hz, 

1H), 2.07 (br s, 1H, OH), 1.87 1.83 (m, 2H), 1.03 (t, J = 7.4 Hz, 3H); 13C NMR (125 MHz, 

CDCl3 170.7 (C), 168.8 (C), 145.5 (C), 132.3 (C), 128.5 (CH), 124.0 (CH), 120.3 (CH), 109.7 

(CH), 94.0 (C), 68.4 (CH), 67.1 (CH), 63.3 (CH2), 58.7 (C), 55.5 (CH), 51.5 (CH3), 45.6 (CH2), 

34.9 (CH), 27.2 (CH2), 26.9 (CH2), 14.9 (CH3); IR (thin film) 3362, 1668, 1602, 1463, 1237, 

1112 cm-1; HRMS (ESI-TOF) m/z calcd for C20H25N2O3S (M+H)+ 373.1586, found 373.1585.

Enhancing the Enantiomeric Purity of Pentacyclic Thioether 19 from 91% ee to >99% ee.

Pentacyclic alcohol 19 (0.453 g, 91% ee) was added to 2.3 mL of toluene, and the resulting 

suspension was heated to 100 °C until the mixture became homogeneous. This solution was 

allowed to cool to room temperature for 18 h, during which time crystals formed. The crystals 

were removed by filtration, washed with 1 mL of toluene, and the combined filtrates were 

concentrated in vacuo to afford 0.41 g (91%) of 19 as a colorless foam. A sample of this material 

was desulfurized by the procedure described in the following paragraph and analyzed by 

7 The methyl thioether analog iv was isolated as an inseparable contaminant (5 15 mol %, variable from run to run) 
as determined by 1H NMR (diagnostic singlet corresponding to methyl thioether group at 1.81 ppm) and LRMS 
analysis.

N

N
H CO2Me

EtS
HHO

19
C20H24N2O3S

Mol. Wt.: 372.48

Supporting Information S9



enantioselective HPLC, which indicated an enantiomeric excess of >99% [Chiralpak AD 

column; flow: 1.0 mL/min; 70:30 n-hexanes:i-PrOH; 254 nm; major enantiomer (+)-S2, tR =

12.7 min; minor enantiomer ( )-S2, tR = 11.1 min].

Pentacyclic Alcohol S2.8 Activated Raney nickel (10.7 g, 50% slurry in water 

from Acros) was suspended in 10 mL of THF, stirred, and allowed to settle, 

before the supernatant was decanted. This wash was repeated nine more times 

before a solution of pentacyclic thioether 19 (0.264 g, 0.710 mmol) in 16 mL of 

THF was added. This suspension was stirred at 50 °C for 1 h, before it was 

filtered through a pad of Celite.9 The filter cake was suspended in 50 mL of MeOH and EtOAc 

(1:1 v/v) and stirred for 3 h at room temperature. This suspension was then filtered, and the 

filtrate was combined with the filtrate from the previous filtration. The filter cake was extracted 

in this way two more times. The combined filtrates were concentrated in vacuo then diluted with 

5 mL of a saturated aqueous solution of NaCl and 15 mL of EtOAc. The layers were separated 

and the aqueous layer was extracted with EtOAc (3 x 15 mL).10 The combined organic layers 

were dried with MgSO4 and concentrated in vacuo to afford 0.195 g of a pale yellow solid. This 

residue was purified by flash silica gel chromatography (10% MeOH in CHCl3, neutralized silica 

gel) to afford 0.17 g (75%) of S2 as a colorless foam: 23
589 + 564.4 23

577 + 604.9 23
546 +

732.0, 23
435 + 1913, 23

405 + 1303 (c 1.39, CHCl3, >99% ee); 1H NMR (500 MHz, CDCl3

8.90 (s, 1H), 7.16 (d, J = 7.4 Hz, 1H), 7.10 (t, J = 7.7 Hz, 1H), 6.89 (t, J = 7.5 Hz, 1H), 6.81 (d, J

= 7.8 Hz, 1H), 4.13 (t, J = 3.4 Hz, 1H), 3.91 3.88 (m, 1H), 3.75 (s, 3H), 3.23 (app s, 1H), 3.05

2.97 (m, 1H), 2.92 2.81 (m, 3H), 2.34 (td, J = 12.1, 5.1 Hz, 1H), 2.06 (br s, 1H), 1.84 1.73 (m, 

3H); 13C NMR (125 MHz, CDCl3 171.3 (C), 169.0 (C), 143.8 (C), 137.1 (C), 127.5 (CH), 

121.5 (CH), 119.8 (CH), 110.0 (CH), 93.1 (C), 68.4 (CH), 67.3 (CH), 55.4 (C), 54.4 (CH2), 51.3 

(CH3), 44.4 (CH2), 43.7 (CH2), 35.3 (CH), 27.0 (CH2); IR (thin film) 3362, 1673, 1601, 1463, 

1238, 1147, 1100 cm-1; HRMS (ESI-TOF) m/z calcd for C18H21N2O3 (M+H)+ 313.1552, found

313.1541.

8 This compound is alkylated by CH2Cl2 at an appreciable rate.
9 This filter cake was not suctioned to dryness.
10 This aqueous wash removed Celite that had dissolved with the product during extractions of the Raney nickel 
filter cake. This wash was especially useful when crude S2 was elaborated without chromatographic purification.

N

N
H CO2Me

HHO

S2
C18H20N2O3

Mol. Wt.: 312.36

Supporting Information S10



Pentacyclic Ketone 20. A solution of pentacyclic alcohol S2 (0.164 g, 0.56 

mmol) and Ac2O (1.1 mL, 11 mmol) in 8.4 mL of dry DMSO was maintained 

for 3 h at room temperature. This solution was then diluted with 40 mL of 

EtOAc and 28 mL of a saturated aqueous solution of NaHCO3, and the mixture 

was stirred for 1 h at room temperature to hydrolyze excess Ac2O. The layers 

were separated and the aqueous layer was extracted with EtOAc (4 x 30 mL). The combined 

organic layers were dried with MgSO4 and concentrated in vacuo11 to afford 0.156 g (96%) of 20

as an orange oil, which was of sufficient purity to be used in the next step without further 

purification:12 23
589 + 641.2, 23

577 + 688.0 23
546 + 833.1, 23

435 + 2158 (c 0.69, CHCl3,

>99% ee); 1H NMR (500 MHz, CDCl3 8.85 (s, 1H), 7.15 (d, J = 7.5 Hz, 1H), 7.14 (t, J = 7.3, 

Hz), 6.91 (t, J = 7.5 Hz, 1H), 6.79 (d, J = 7.8 Hz, 1H), 3.91 (app s, 1H), 3.77 (s, 3H), 3.49 3.46

(m, 1H), 3.27 3.21 (m, 1H), 3.20 3.10 (m, 2H), 2.94 2.87 (m, 2H), 2.45 2.37 (m, 1H), 2.26

2.19 (m, 1H), 2.17 2.10 (m, 1H); 13C NMR (125 MHz, CDCl3 213.4 (C), 167.6 (C), 166.8 

(C), 144.6 (C), 133.9 (C), 128.6 (CH), 121.9 (CH), 120.9 (CH), 110.3 (CH), 97.8 (C), 67.6 (CH), 

64.1 (C), 53.8 (CH2), 51.7 (CH3), 47.1 (CH2), 46.3 (CH2), 42.0 (CH), 30.3 (CH2); IR (thin film) 

3351, 1733, 1677, 1602, 1464, 1234, 1198, 1101 cm-1; HRMS (ESI-TOF) m/z calcd for 

C18H19N2O3 (M+H)+ 311.1396, found 311.1404.

(+)-Condylocarpine (2a) and (+)-Isocondylocarpine (2b). A 2.5 M solution of n-BuLi 

(0.59 mL, 1.5 mmol) was added to a suspension of ethyltriphenylphosphonium bromide (0.579 g, 

1.56 mmol) in 5.7 mL of toluene, and the resulting orange suspension was stirred for 1 h at room 

temperature. A solution of pentacyclic ketone 20 (55 mg, 0.18 mmol) in 1.0 mL of THF was then 

added by cannula, and the residue in the transfer vessel was added to the reaction mixture with 

an additional 0.4 mL of THF. The resulting mixture was stirred for 3.5 h at room temperature, 

before it was diluted with 5 mL of EtOAc and 5 mL of a saturated aqueous solution of NaHCO3.

The layers were separated and the aqueous layer was extracted with EtOAc (3 x 5 mL). The 

combined organic layers were dried with MgSO4 and concentrated in vacuo to afford 0.190 g of 

an orange residue. This residue was purified by flash silica gel chromatography (4% 5% 

11 DMSO was removed under vacuum (10 4 mm) for 3 days.
12 An analytical sample of the racemate, which was obtained by crystallization from toluene (mp 225 °C dec), was 
used to obtain analytical data other than the specific rotation.

N

N
H CO2Me

O

20
C18H18N2O3

Mol. Wt.: 310.35

Supporting Information S11



MeOH in CHCl3, neutralized silica gel) to afford 44 mg (77%) of a 1:1 mixture of 2a and 2b as a 

colorless foam.  

Analytical samples of each diastereomer were obtained by normal phase HPLC 

(15% reagent alcohol in CHCl3). (+)-Condylocarpine (2a) was isolated as a 

colorless amorphous solid:13 [ ]23
589 + 854, [ ]23

577 + 916, [ ]23
546 + 1100, 

[ ]23
435 + 2752, [ ]23

405 + 3433  (c 0.39, CHCl3, >99% ee); [ ]23
589 + 631, [ ]23

577 

+ 674, [ ]23
546 + 807, [ ]23

435 + 2026, [ ]23
405 + 2414  (c 0.59, EtOH, >99% ee); 

1H NMR (500 MHz, CDCl3)  8.68 (s, 1H), 7.18 (d, J = 7.3 Hz, 1H), 7.12 (t, J = 7.7 Hz, 1H), 

6.89 (t, J = 7.4 Hz, 1H), 6.78 (d, J = 7.7 Hz, 1H), 5.32 (q, J = 6.7 Hz, 1H), 4.12 (s, 1H), 3.93–

3.89 (m, 1H), 3.80 (s, 3H), 3.08 (ddd, J = 11.3, 10.0, 6.8 Hz, 1H), 3.03 (ddd, J = 13.0, 7.0, 6.1 

Hz, 1H), 2.98 (ddd, J = 11.3, 6.9, 3.3 Hz, 1H), 2.78 (ddd, J = 13.0, 9.6, 7.1 Hz, 1H), 2.66 (ddd, J

= 12.8, 7.6, 5.2 Hz, 1H), 1.96 (ddd, J = 12.9, 6.7, 3.3 Hz, 1H),  1.94–1.89 (m, 1H), 1.89–1.83 (m, 

1H), 1.59 (d, J = 6.8 Hz, 3H); 13C NMR (125 MHz, CDCl3)  169.7 (C), 168.3 (C), 144.7 (C), 

137.8 (C), 135.7 (C), 127.8 (CH), 121.2 (CH), 120.4 (CH), 117.4 (CH), 109.9 (CH), 101.6 (C), 

69.1 (CH), 60.2 (C), 53.4 (CH2), 51.4 (CH3), 46.3 (CH2), 45.5 (CH2), 29.2 (CH), 28.6 (CH2), 

13.3 (CH3); IR (thin film) 3367, 2948, 2919, 2860, 1674, 1603, 1474, 1463, 1435, 1381, 1357, 

1269, 1232, 1196, 1160, 1117, 1099, 1062, 910, 732 cm-1; HRMS (ESI-TOF) m/z calcd for 

C20H23N2O2 (M+H)+ 323.1760, found 323.1767. 

(+)-Isocondylocarpine (2b) was isolated as a colorless amorphous solid:13

[ ]23
589 + 798, [ ]23

577 + 858, [ ]23
546 + 1035, [ ]23

435 + 2638, [ ]23
405 + 3785  (c

0.145, CHCl3, >99% ee); [ ]23
589 + 560, [ ]23

577 + 600, [ ]23
546 + 727, [ ]23

435 +

1870, [ ]23
405 + 2633 (c 0.22, EtOH, >99% ee); 1H NMR (500 MHz, CDCl3)

8.67 (s, 1H), 7.22 (d, J = 7.3 Hz, 1H), 7.12 (t, J = 7.7 Hz, 1H), 6.89 (t, J = 7.4 

Hz, 1H), 6.78 (d, J = 7.8 Hz, 1H), 5.41 (q, J = 6.7 Hz, 1H), 4.65 (s, 1H), 3.80 (s 3H), 3.43 (app t, 

J = 4.2 Hz, 1H), 3.11 (ddd, J = 11.2, 9.7, 6.9 Hz, 1H), 3.03 (ddd, J = 12.4, 6.4, 6.1 Hz, 1H), 2.99 

(ddd, J = 11.3, 7.0, 3.4 Hz, 1H), 2.80 (ddd, J = 12.9, 9.6, 7.1 Hz, 1H), 2.65 (ddd, J = 13.2, 6.6, 

6.3 Hz, 1H), 1.98 (ddd, J = 12.9, 6.8, 3.2 Hz, 1H), 1.91 (app q, J = 5.8 Hz, 2H), 1.60 (d, J = 6.8 

Hz, 3H); 13C NMR (125 MHz, CDCl3)  169.2 (C), 168.2 (C), 144.8 (C), 137.6 (C), 135.6 (C), 

127.8 (CH), 121.2 (CH), 120.2 (CH), 117.9 (CH), 109.9 (CH), 102.3 (C), 60.5 (CH), 60.1 (C), 

13 Analytical samples were washed with aqueous NaHCO3 before analysis. NMR spectra were sensitive to traces of 
DCl; hence, CDCl3 was filtered through activated basic alumina prior to use. 

N

N
H CO2Me

2a
C20H22N2O2

Mol. Wt.: 322.40

N

N
H CO2Me

2b
C20H22N2O2

Mol. Wt.: 322.40

Supporting Information S12



53.6 (CH2), 51.4 (CH3), 46.2 (CH2), 45.3 (CH2), 37.7, (CH), 29.1 (CH2), 13.1 (CH3); IR (thin 

film) 3366, 2948, 2918, 2860, 2849, 1674, 1603, 1475, 1463, 1436, 1382, 1358, 1271, 1235, 

1200, 1160, 1116, 1103, 1066, 910, 733 cm-1; HRMS (ESI-TOF) m/z calcd for C20H23N2O2

(M+H)+ 323.1760, found 323.1762. 

(+)-Tubotaiwine (21). Platinum oxide (10 mg, 0.044 mmol) was added to a 

solution of (+)-condylocarpine (2a) and (+)-isocondylocarpine (2b) (19 mg, 

0.059 mmol, 2a:2b = 1:1) in 2 mL of ethanol, and the mixture was stirred under 

an atmosphere of hydrogen14 for 1 h at room temperature.15 This suspension was 

then filtered and concentrated in vacuo to afford 17 mg (91%) of pure (+)-

tubotaiwine (21) as a colorless amorphous solid:13 [ ]22
589 + 584, [ ]23

577 + 625, [ ]23
546 + 756, 

[ ]23
435 + 1972 (c 0.91, CHCl3, >99% ee); [ ]23

589 + 504, [ ]23
577 + 539, [ ]23

546 + 653, [ ]23
435 +

1721, [ ]23
405 + 2358  (c 0.67, EtOH, >99% ee); 1H NMR (500 MHz, CDCl3)  8.86 (s, 1H), 7.14 

(d, J = 7.3 Hz, 1H), 7.11 (t, J = 7.7 Hz, 1H), 6.88 (t, J = 7.5 Hz, 1H), 6.81 (d, J = 7.7 Hz, 1H), 

3.81 (s, 1H), 3.77 (s, 3H), 3.06–2.99 (m, 2H), 2.96 (dt, J = 11.8, 4.0 Hz, 1H), 2.94–2.87 (m, 1H), 

2.84 (dd, J = 10.8, 7.1 Hz, 1H), 2.46 (ddd, J = 11.7, 9.6, 8.6 Hz, 1H), 2.00–1.95 (m, 1H), 1.82–

1.76 (m, 3H), 0.86–0.78 (m, 2H), 0.70 (t, J = 7.3 Hz, 3H); 13C NMR (125 MHz, CDCl3)  170.9 

(C), 169.1 (C), 143.9 (C), 137.5 (C), 127.3 (CH), 121.2 (CH), 119.9 (CH), 109.8 (CH), 95.8 (C), 

65.8 (CH), 55.4 (C), 54.2 (CH2), 51.3 (CH3), 45.5 (CH2), 44.3 (CH2), 41.5 (CH), 31.2 (CH), 28.7 

(CH2), 24.1 (CH2), 11.8 (CH3); IR (thin film) 3363, 2957, 2931, 2874, 1674, 1602, 1475, 1463, 

1435, 1279, 1235, 1204, 1151, 1123, 1099, 1027, 748 cm-1; HRMS (ESI-TOF) m/z calcd for 

C20H25N2O2 (M+H)+ 325.1916 found 325.1913. 

14 A balloon of hydrogen was used. 
15 Schumann, D.; Schmid, H. Helv. Chim. Acta 1963, 46, 1996–2003. 

N

N
H CO2Me

H

21
C20H24N2O2

Mol. Wt.: 324.42

Supporting Information S13



Table S1. Optical Rotations Reported for Condylocarpine, Isocondylocarpine, and Tubotaiwine 

Condylocarpine Isocondylocarpine Tubotaiwine 

+ 900 (c 0.556, CHCl3) 16

+ 870 (c 0.40, EtOH) 
+ 537 (c 0.1, CHCl3)17 + 628 (c 0.80, CHCl3)18

+ 899 (c 0.426, CHCl3)19  + 611 (c 1.02, CHCl3)20

+ 870 (c 0.1)21  + 598 (c 0.13, CHCl3)22

+ 501 (c 0.7, CHCl3)23  + 584 (c 0.676, CHCl3)24

  + 538 (CHCl3)25

  + 417 (CHCl3)26

  + 400 (c 3, CHCl3)27

  + 336 (c 1.06, MeOH)28

16 Stauffacher, D. Helv Chim Acta 1961, 44, 2006–2015. 
17 Wu, Y.; Kitajima, M.; Kogure, N.; Wang, Y.; Zhang, R.; Takayama, H. J. Nat. Med. 2009, 63, 283–289. 
18 Pinar, M.; Renner, U.; Hesse, M.; Schmid, H. Helv. Chim. Acta 1972, 55, 2972–2974. 
19 Linde, H. H. A. Helv Chim Acta 1965, 48, 1822–1842. 
20 Kump, W. G.; Patel, M. B.; Rowson, J. M.; Schmid, H. Helv. Chim. Acta 1964, 47, 1497–1503. 
21 Achenbach, H.; Raffelsberger, B. Z. Naturforsch. B: Anorg. Chem., Org. Chem. 1980, 35, 885–891. Specific 
rotation data was accessed from MDL Crossfire Commander, version 7.1; Elsevier Information Systems GmbH: 
2007; BRN 6238018. 
22 Sheludko, Y.; Gerasimenko, I.; Platonova, O. Planta Med. 2000, 66, 656–659. 
23 Achenbach, H.; Benirschke, M.; Torrenegra, R. Phytochemistry 1997, 45, 325–335. 
24 Pinar, M.; Schmid, H. Liebigs Ann. Chem. 1963, 668, 97–104. 
25 Gunasekera, S. P.; Cordell, G.; Farnsworth, N. R. Phytochemistry 1980, 19, 1213–1218. 
26 Panas, J. M.; Morfaux, A. M.; Lemen, J.; Olivier, L. Ann. Pharm. Fr. 1972, 30, 273. Specific rotation data was 
accessed from MDL Crossfire Commander, version 7.1; Elsevier Information Systems GmbH: 2007; BRN 626683. 
27 Morfaux, A. M.; Mulamba, T.; Richard, B.; Delaude, C.; Massiot, G.; Le Men-Olivier, L. Phytochemistry 1982,
21, 1767–1769. 
28 Yamauchi, T.; Abe, F.; Padolina, W. G.; Dayrit, F. M. Phytochemistry 1990, 29, 3321–3325. 

Supporting Information S14



0
1

2
3

4
5

6
7

8
pp

m

Integral

1.0000

0.3941

0.5889

1.0391

1.0251
1.0486

0.4057

0.5822

1.0041

3.7255
3.1094

1.4403

1.0218

1.0841

3.1269

7.0075

3.8350

ppm

8.58169
8.53139

7.84155
7.82848
7.65936
7.64632
7.40952
7.39593
7.38543
7.37193
7.26991
7.25216
7.23952
7.22636
7.21280
7.16839
7.15593
7.14392
7.13157
7.11922

6.41823

6.28413

5.62278
5.61150
5.60029
5.58927
5.57801
5.56682

3.90274
3.84900
3.84391
3.82525
3.81572
3.80192
3.79289
3.72188
3.61854
3.61000
3.59604
3.57360
3.56778
3.01504
2.97225
2.86327
2.84547
2.84107
2.82302
2.81830
2.80569
2.80081
2.78301
2.77801
2.76044
2.75572
2.03930
2.03014
2.01625
2.00678
1.99739
1.98354
1.97590
1.96781
1.95771
1.94469
1.93527
1.82817
1.81656
1.80977
1.79841
1.73269
1.62884
1.61324
1.58852
1.57933
1.56742
1.52212
1.44724
1.41929
1.39161
1.27307

1H
sp

ec
tr

um

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

1-
17

7B
2

EX
PN

O
11

PR
OC

NO
1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
07

10
31

Ti
me

12
.3

9
IN

ST
RU

M
av

60
0

PR
OB

HD
5

mm
TB

I
1H

/1
3

PU
LP

RO
G

zg
30

TD
97

93
8

SO
LV

EN
T

CD
Cl

3T
NS

8
DS

2
SW

H
96

15
.3

85
Hz

FI
DR

ES
0.

09
81

78
Hz

AQ
5.

09
28

25
9

se
c

RG
45

6
DW

52
.0

00
us

ec
DE

6.
00

us
ec

TE
29

8.
0

K
D1

0.
10

00
00

00
se

c
TD

0
1

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
1H

P1
8.

00
us

ec
PL

1
-1

.0
0

dB
SF

O1
60

0.
13

42
00

9
MH

z

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
60

0.
12

99
62

4
MH

z
WD

W
EM

SS
B

0
LB

0.
30

Hz
GB

0
PC

1.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

47
.4

9
cm

F1
P

9.
00

0
pp

m
F1

54
01

.1
7

Hz
F2

P
-1

.0
00

pp
m

F2
-6

00
.1

3
Hz

PP
MC

M
0.

43
86

0
pp

m/
cm

HZ
CM

26
3.

21
49

0
Hz

/c
m

N
B

oc

N H
C

O
2M

eC
O

2M
e

8
C

25
H

30
N

2O
6

M
ol

.W
t.:

45
4.

52

Supporting Information S15



20
40

60
80

10
0

12
0

14
0

16
0

pp
m

ppm

169.97
169.81
168.05
168.02

154.70
153.88

136.92
134.76
134.26
129.94
129.69
124.79
124.74
123.14
123.10
120.43
120.05
119.99
119.81
119.20
119.05
113.54
112.69
111.56
111.15

79.89
79.51
77.49
77.23
76.98

60.46
60.32

53.33
53.26

44.55
43.53
42.73
42.64

37.48
36.12

30.70
30.59
28.87
28.57
28.36

13.58
13.37

13
C

sp
ec

tr
um

wi
th

1H
de

co
up

li
ng

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

1-
17

7B
3

EX
PN

O
4

PR
OC

NO
1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
07

10
31

Ti
me

18
.4

2
IN

ST
RU

M
cr

yo
50

0
PR

OB
HD

5
mm

CP
TC

I
1H

-
PU

LP
RO

G
zg

dc
30

TD
65

41
8

SO
LV

EN
T

CD
Cl

3
NS

14
5

DS
4

SW
H

30
30

3.
03

1
Hz

FI
DR

ES
0.

46
32

22
Hz

AQ
1.

07
94

47
0

se
c

RG
13

00
4

DW
16

.5
00

us
ec

DE
6.

00
us

ec
TE

29
8.

0
K

D1
0.

25
00

00
00

se
c

d1
1

0.
03

00
00

00
se

c
MC

RE
ST

0.
00

00
00

00
se

c
MC

WR
K

0.
01

50
00

00
se

c

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
13

C
P1

15
.0

0
us

ec
PL

1
-1

.0
0

dB
SF

O1
12

5.
79

42
54

8
MH

z

==
==

==
==

CH
AN

NE
L

f2
==

==
==

==
CP

DP
RG

2
wa

lt
z1

6
NU

C2
1H

PC
PD

2
10

0.
00

us
ec

PL
2

1.
60

dB
PL

12
23

.5
4

dB
SF

O2
50

0.
22

25
01

1
MH

z

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
12

5.
78

04
04

3
MH

z
WD

W
EM

SS
B

0
LB

1.
00

Hz
GB

0
PC

2.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

26
.7

6
cm

F1
P

18
0.

00
0

pp
m

F1
22

64
0.

47
Hz

F2
P

0.
00

0
pp

m
F2

0.
00

Hz
PP

MC
M

7.
89

47
4

pp
m/

cm
HZ

CM
99

3.
00

32
3

Hz
/c

m

N
B

oc

N H
C

O
2M

eC
O

2M
e

8
C

25
H

30
N

2O
6

M
ol

.W
t.:

45
4.

52

Supporting Information S16



2 4 6 8 pp
m

2
4

6
8

pp
m

N
B

oc

N H
C

O
2M

eC
O

2M
e

8
C

25
H

30
N

2O
6

M
ol

.W
t.:

45
4.

52

N
O

ES
Y

Supporting Information S17



0
2

4
6

8
10

pp
m

Integral

0.9869

1.0485

1.0926

1.1422
1.1333

1.0000

1.0245

3.0535
3.0477

1.0858

2.1299

1.0157
1.0607

9.5845
3.2066

ppm

11.0474

7.6049
7.5891
7.4387
7.4224
7.1234
7.1217
7.1089
7.1076
7.0931
7.0914
7.0450
7.0294
7.0151
6.6022

4.7581
4.7459
4.7325
4.7205
3.8244
3.8019
3.7594
3.7408
3.7062
3.6802
3.6701
3.6657
3.4996
3.4857
3.4725
3.4593
3.4454
3.2936
3.2931
3.2804
3.2688
3.2567
3.2443
3.2310
3.2178
3.2049
3.0992
2.5072
2.5037
2.5001
2.4964
2.4926
1.9837
1.9719
1.9586
1.9458
1.9337
1.8340
1.8210
1.8082
1.7955
1.7617
1.7484
1.5170
1.5047
1.4643
1.4325
1.4115
1.3942
1.3892
1.3801
1.3713
1.3581
1.3479
1.3360

1H
sp

ec
tr

um

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

5-
13

6A
EX

PN
O

4
PR

OC
NO

1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

11
05

Ti
me

15
.1

5
IN

ST
RU

M
gn

50
0

PR
OB

HD
5

mm
br

oa
db

an
d

PU
LP

RO
G

zg
30

TD
81

72
8

SO
LV

EN
T

CD
Cl

3T
NS

8
DS

2
SW

H
80

12
.8

20
Hz

FI
DR

ES
0.

09
80

43
Hz

AQ
5.

09
99

39
8

se
c

RG
90

.5
DW

62
.4

00
us

ec
DE

6.
00

us
ec

TE
34

3.
0

K
D1

0.
10

00
00

00
se

c
MC

RE
ST

0.
00

00
00

00
se

c
MC

WR
K

0.
01

50
00

00
se

c

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
1H

P1
13

.0
0

us
ec

PL
1

-4
.0

0
dB

SF
O1

49
9.

62
34

97
3

MH
z

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
49

9.
62

00
10

8
MH

z
WD

W
no

SS
B

0
LB

0.
00

Hz
GB

0
PC

1.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

30
.0

0
cm

F1
P

12
.0

00
pp

m
F1

59
95

.4
4

Hz
F2

P
-1

.0
00

pp
m

F2
-4

99
.6

2
Hz

PP
MC

M
0.

57
01

8
pp

m/
cm

HZ
CM

28
4.

87
10

6
Hz

/c
m

N
B

oc

M
eO

2C
C

O
2M

e

N H

9
C

25
H

30
N

2O
6

M
ol

.W
t.:

45
4.

52

Supporting Information S18



20
40

60
80

10
0

12
0

14
0

16
0

pp
m

ppm

168.40
167.54

153.96

136.55
135.40

131.53

126.94

123.25
121.30

118.98
117.57

113.47
111.68
110.82

78.33

58.70

52.75
52.69
52.47
52.06

40.60
40.01
39.85
39.68
39.51
39.34
39.18
39.01
38.90

27.86
27.81

23.22

19.72

13
C

sp
ec

tr
um

wi
th

1H
de

co
up

li
ng

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

5-
13

6A
EX

PN
O

7
PR

OC
NO

1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

11
05

Ti
me

15
.1

9
IN

ST
RU

M
gn

50
0

PR
OB

HD
5

mm
br

oa
db

an
d

PU
LP

RO
G

zg
dc

30
TD

65
41

8
SO

LV
EN

T
CD

Cl
3

NS
48

7
DS

4
SW

H
30

30
3.

03
1

Hz
FI

DR
ES

0.
46

32
22

Hz
AQ

1.
07

94
63

5
se

c
RG

23
17

0.
5

DW
16

.5
00

us
ec

DE
4.

50
us

ec
TE

34
3.

0
K

D1
0.

25
00

00
00

se
c

d1
1

0.
03

00
00

00
se

c
MC

RE
ST

0.
00

00
00

00
se

c
MC

WR
K

0.
01

50
00

00
se

c

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
13

C
P1

12
.5

0
us

ec
PL

1
-3

.0
0

dB
SF

O1
12

5.
64

33
68

3
MH

z

==
==

==
==

CH
AN

NE
L

f2
==

==
==

==
CP

DP
RG

2
wa

lt
z1

6
NU

C2
1H

PC
PD

2
80

.0
0

us
ec

PL
2

-3
.0

0
dB

PL
12

13
.7

0
dB

SF
O2

49
9.

62
24

98
1

MH
z

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
12

5.
62

96
57

2
MH

z
WD

W
EM

SS
B

0
LB

1.
00

Hz
GB

0
PC

2.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

15
.6

5
cm

F1
P

18
0.

00
0

pp
m

F1
22

61
3.

34
Hz

F2
P

0.
00

0
pp

m
F2

0.
00

Hz
PP

MC
M

7.
89

47
4

pp
m/

cm
HZ

CM
99

1.
81

31
1

Hz
/c

m

N
B

oc

M
eO

2C
C

O
2M

e

N H

9
C

25
H

30
N

2O
6

M
ol

.W
t.:

45
4.

52

Supporting Information S19



0
2

4
6

8
10

pp
m

Integral

1.000

0.992

1.049

2.097

0.968

2.045

2.016

20.339

ppm

9.91885

8.83527

8.07885

7.45235
7.43700
7.42216
7.40802
7.39290
7.27002
7.23338
7.21869
7.20452

4.09043

3.55765

1.78119
1.74094
1.70139
1.61626
1.55638

1.26909

1H
sp

ec
tr

um

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

5-
13

9A
EX

PN
O

1
PR

OC
NO

1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

11
17

Ti
me

21
.4

7
IN

ST
RU

M
cr

yo
50

0
PR

OB
HD

5
mm

CP
TC

I
1H

-
PU

LP
RO

G
zg

30
TD

81
72

8
SO

LV
EN

T
CD

Cl
3

NS
7

DS
2

SW
H

80
12

.8
20

Hz
FI

DR
ES

0.
09

80
43

Hz
AQ

5.
09

98
77

4
se

c
RG

4.
5

DW
62

.4
00

us
ec

DE
6.

00
us

ec
TE

29
8.

0
K

D1
0.

10
00

00
00

se
c

MC
RE

ST
0.

00
00

00
00

se
c

MC
WR

K
0.

01
50

00
00

se
c

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
1H

P1
7.

50
us

ec
PL

1
1.

60
dB

SF
O1

50
0.

22
35

01
5

MH
z

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
50

0.
22

00
27

3
MH

z
WD

W
no

SS
B

0
LB

0.
00

Hz
GB

0
PC

4.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

30
.0

0
cm

F1
P

11
.0

00
pp

m
F1

55
02

.4
2

Hz
F2

P
-1

.0
00

pp
m

F2
-5

00
.2

2
Hz

PP
MC

M
0.

52
63

2
pp

m/
cm

HZ
CM

26
3.

27
37

1
Hz

/c
m

N H

B
oc

N

C
O

2t
-B

u
10

C
24

H
28

N
2O

4
M

ol
.W

t.:
40

8.
49

Supporting Information S20



20
40

60
80

10
0

12
0

14
0

16
0

pp
m

ppm

167.07

152.96

140.03

137.01

125.98
123.88
122.94
120.69
119.57

111.19
111.06
110.30

82.32
80.54
77.49
77.23
76.98

48.29

30.08
29.92
28.78
28.74
28.62
28.47

Z-
re

st
or

ed
sp

in
-e

ch
o

13
C

sp
ec

tr
um

wi
th

1H
de

co
up

li
ng

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

5-
13

9A
EX

PN
O

5
PR

OC
NO

1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

11
17

Ti
me

22
.0

0
IN

ST
RU

M
cr

yo
50

0
PR

OB
HD

5
mm

CP
TC

I
1H

-
PU

LP
RO

G
Sp

in
Ec

ho
pg

30
gp

.p
rd

TD
65

41
8

SO
LV

EN
T

CD
Cl

3
NS

10
24

DS
16

SW
H

30
30

3.
03

1
Hz

FI
DR

ES
0.

46
32

22
Hz

AQ
1.

07
94

47
0

se
c

RG
10

32
1.

3
DW

16
.5

00
us

ec
DE

6.
00

us
ec

TE
29

8.
0

K
D1

0.
25

00
00

00
se

c
d1

1
0.

03
00

00
00

se
c

D1
6

0.
00

02
00

00
se

c
d1

7
0.

00
01

96
00

se
c

MC
RE

ST
0.

00
00

00
00

se
c

MC
WR

K
0.

01
50

00
00

se
c

P2
31

.0
0

us
ec

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
13

C
P1

15
.5

0
us

ec
P1

1
50

0.
00

us
ec

P1
2

20
00

.0
0

us
ec

PL
0

12
0.

00
dB

PL
1

-1
.0

0
dB

SF
O1

12
5.

79
42

54
8

MH
z

SP
1

3.
20

dB
SP

2
3.

20
dB

SP
NA

M1
Cr

p6
0,

0.
5,

20
.1

SP
NA

M2
Cr

p6
0c

om
p.

4
SP

OF
F1

0.
00

Hz
SP

OF
F2

0.
00

Hz

==
==

==
==

CH
AN

NE
L

f2
==

==
==

==
CP

DP
RG

2
wa

lt
z1

6
NU

C2
1H

PC
PD

2
10

0.
00

us
ec

PL
2

1.
60

dB
PL

12
24

.6
0

dB
SF

O2
50

0.
22

25
01

1
MH

z

==
==

==
GR

AD
IE

NT
CH

AN
NE

L
==

==
=

GP
NA

M1
SI

NE
.1

00
GP

NA
M2

SI
NE

.1
00

GP
X1

0.
00

%
GP

X2
0.

00
%

GP
Y1

0.
00

%
GP

Y2
0.

00
%

GP
Z1

30
.0

0
%

GP
Z2

50
.0

0
%

p1
5

50
0.

00
us

ec
p1

6
10

00
.0

0
us

ec

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
12

5.
78

04
00

1
MH

z
WD

W
EM

SS
B

0
LB

1.
00

Hz
GB

0
PC

2.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

49
.5

6
cm

F1
P

17
0.

00
0

pp
m

F1
21

38
2.

67
Hz

F2
P

0.
00

0
pp

m
F2

0.
00

Hz
PP

MC
M

7.
45

61
4

pp
m/

cm
HZ

CM
93

7.
83

63
6

Hz
/c

m

N H

B
oc

N

C
O

2t
-B

u
10

C
24

H
28

N
2O

4
M

ol
.W

t.:
40

8.
49

Supporting Information S21



0
1

2
3

4
5

6
7

8
pp

m

Integral

1.0000

0.9874

1.0103

1.0164

1.0084

2.0171

1.9773

ppm

7.97468
7.95911

7.75749

7.53820
7.52191
7.38928
7.37414
7.35909
7.15949
7.14451
7.12978

4.88486

3.54510
3.53118
3.51729
3.32852
3.31292
3.30994
3.30691

1H
sp

ec
tr

um

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

RO
-1

-9
5-

ne
w

EX
PN

O
1

PR
OC

NO
1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
09

04
27

Ti
me

13
.3

5
IN

ST
RU

M
cr

yo
50

0
PR

OB
HD

5
mm

CP
TC

I
1H

-
PU

LP
RO

G
zg

30
TD

81
72

8
SO

LV
EN

T
CD

3O
D

NS
12

DS
2

SW
H

80
12

.8
20

Hz
FI

DR
ES

0.
09

80
43

Hz
AQ

5.
09

98
77

4
se

c
RG

11
.3

DW
62

.4
00

us
ec

DE
6.

00
us

ec
TE

29
8.

0
K

D1
0.

10
00

00
00

se
c

MC
RE

ST
0.

00
00

00
00

se
c

MC
WR

K
0.

01
50

00
00

se
c

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
1H

P1
7.

50
us

ec
PL

1
1.

60
dB

SF
O1

50
0.

22
35

01
5

MH
z

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
50

0.
22

00
18

9
MH

z
WD

W
EM

SS
B

0
LB

0.
30

Hz
GB

0
PC

4.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

26
.5

3
cm

F1
P

8.
50

0
pp

m
F1

42
51

.8
7

Hz
F2

P
-1

.0
00

pp
m

F2
-5

00
.2

2
Hz

PP
MC

M
0.

41
66

7
pp

m/
cm

HZ
CM

20
8.

42
50

2
Hz

/c
m

N H
C

O
2H

N
H

3+

O
H

11
C

17
H

15
F 3

N
2O

5
M

ol
.W

t.:
38

4.
31C
F 3

C
O

2–

Supporting Information S22



20
40

60
80

10
0

12
0

14
0

16
0

pp
m

ppm

170.51

150.41

142.14

136.14

127.44
125.40
125.28
123.27
120.92
120.11

112.48
111.08

49.77
49.66
49.60
49.49
49.43
49.32
49.26
49.15
48.98
48.81
48.64
41.40

27.25

Z-
re

st
or

ed
sp

in
-e

ch
o

13
C

sp
ec

tr
um

wi
th

1H
de

co
up

li
ng

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

RO
-1

-9
5-

ne
w

EX
PN

O
6

PR
OC

NO
1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
09

04
27

Ti
me

13
.4

1
IN

ST
RU

M
cr

yo
50

0
PR

OB
HD

5
mm

CP
TC

I
1H

-
PU

LP
RO

G
Sp

in
Ec

ho
pg

30
gp

.p
rd

TD
65

41
8

SO
LV

EN
T

CD
3O

D
NS

87
1

DS
16

SW
H

30
30

3.
03

1
Hz

FI
DR

ES
0.

46
32

22
Hz

AQ
1.

07
94

47
0

se
c

RG
28

96
.3

DW
16

.5
00

us
ec

DE
6.

00
us

ec
TE

29
8.

0
K

D1
0.

25
00

00
00

se
c

d1
1

0.
03

00
00

00
se

c
D1

6
0.

00
02

00
00

se
c

d1
7

0.
00

01
96

00
se

c
MC

RE
ST

0.
00

00
00

00
se

c
MC

WR
K

0.
01

50
00

00
se

c
P2

29
.7

0
us

ec

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
13

C
P1

14
.8

5
us

ec
P1

1
50

0.
00

us
ec

P1
2

20
00

.0
0

us
ec

PL
0

12
0.

00
dB

PL
1

-1
.0

0
dB

SF
O1

12
5.

79
42

54
8

MH
z

SP
1

3.
60

dB
SP

2
3.

60
dB

SP
NA

M1
Cr

p6
0,

0.
5,

20
.1

SP
NA

M2
Cr

p6
0c

om
p.

4
SP

OF
F1

0.
00

Hz
SP

OF
F2

0.
00

Hz

==
==

==
==

CH
AN

NE
L

f2
==

==
==

==
CP

DP
RG

2
wa

lt
z1

6
NU

C2
1H

PC
PD

2
10

0.
00

us
ec

PL
2

1.
60

dB
PL

12
24

.6
0

dB
SF

O2
50

0.
22

25
01

1
MH

z

==
==

==
GR

AD
IE

NT
CH

AN
NE

L
==

==
=

GP
NA

M1
SI

NE
.1

00
GP

NA
M2

SI
NE

.1
00

GP
X1

0.
00

%
GP

X2
0.

00
%

GP
Y1

0.
00

%
GP

Y2
0.

00
%

GP
Z1

30
.0

0
%

GP
Z2

50
.0

0
%

p1
5

50
0.

00
us

ec
p1

6
10

00
.0

0
us

ec

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
12

5.
78

02
26

5
MH

z
WD

W
EM

SS
B

0
LB

1.
00

Hz
GB

0
PC

2.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

29
3.

58
cm

F1
P

18
0.

00
0

pp
m

F1
22

64
0.

44
Hz

F2
P

0.
00

0
pp

m
F2

0.
00

Hz
PP

MC
M

7.
89

47
4

pp
m/

cm
HZ

CM
99

3.
00

18
3

Hz
/c

m

N H
C

O
2H

N
H

3+

O
H

11
C

17
H

15
F 3

N
2O

5
M

ol
.W

t.:
38

4.
31C
F 3

C
O

2–

Supporting Information S23



0
1

2
3

4
5

6
7

8
pp

m

Integral

1.0000

0.3842
0.6213

1.0274

1.0428
1.0319

0.3846

0.6229

1.0106

0.6248

0.6317

0.8210

1.0125

1.0438

1.1348

1.0248
5.4869
8.9045
9.2501
3.6187

ppm

8.38706

7.80002
7.78416
7.68735
7.67155
7.40061
7.38426
7.37827
7.36134
7.26994
7.23424
7.21910
7.20292
7.18623
7.14283
7.12776
7.11389
7.10041
7.08572

5.71594
5.71033
5.58415
5.57809

4.28802
4.28275
3.84699
3.84316
3.71738
3.70682
3.69028
3.67948
3.53006
3.51931
3.49679
3.48292
3.22701
2.56333
2.54234
2.53609
2.52517
2.51822
2.49773
2.49122
2.47027
2.46382
1.97131
1.96108
1.95232
1.94228
1.93284
1.92459
1.91278
1.73711
1.70842
1.67098
1.64953
1.63438
1.60361
1.54460
1.50883
1.47512
1.46255
1.41241
1.38057
1.26592
1.23361
1.21957
0.89493
0.88100

0.08229

1H
sp

ec
tr

um

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

4-
26

3A
EX

PN
O

1
PR

OC
NO

1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

06
15

Ti
me

20
.0

7
IN

ST
RU

M
cr

yo
50

0
PR

OB
HD

5
mm

CP
TC

I
1H

-
PU

LP
RO

G
zg

30
TD

81
72

8
SO

LV
EN

T
CD

Cl
3

NS
7

DS
2

SW
H

80
12

.8
20

Hz
FI

DR
ES

0.
09

80
43

Hz
AQ

5.
09

98
77

4
se

c
RG

6.
3

DW
62

.4
00

us
ec

DE
6.

00
us

ec
TE

29
8.

0
K

D1
0.

10
00

00
00

se
c

MC
RE

ST
0.

00
00

00
00

se
c

MC
WR

K
0.

01
50

00
00

se
c

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
1H

P1
7.

50
us

ec
PL

1
1.

60
dB

SF
O1

50
0.

22
35

01
5

MH
z

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
50

0.
22

00
26

8
MH

z
WD

W
EM

SS
B

0
LB

0.
30

Hz
GB

0
PC

4.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

96
.7

8
cm

F1
P

9.
00

0
pp

m
F1

45
01

.9
8

Hz
F2

P
-1

.0
00

pp
m

F2
-5

00
.2

2
Hz

PP
MC

M
0.

43
86

0
pp

m/
cm

HZ
CM

21
9.

39
47

6
Hz

/c
m

N
B

oc

N H
C

O
2t

-B
u

C
O

2t
-B

u

H
H

O

i
C

29
H

40
N

2O
7

M
W

:5
28

.6
3

Supporting Information S24



20
40

60
80

10
0

12
0

14
0

16
0

pp
m

ppm

170.28

168.11

154.38

136.93

128.14
126.17
122.92
122.83
120.59
119.85
119.79
119.73

111.21
110.86
109.95

84.85
83.61
83.44
80.24
79.70
77.48
77.23
76.98

71.10
70.85

59.02

48.79
47.68

37.99
37.90
36.20
34.82

28.82
28.54
28.09
28.07
27.69
27.49

Z-
re

st
or

ed
sp

in
-e

ch
o

13
C

sp
ec

tr
um

wi
th

1H
de

co
up

li
ng

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

4-
26

3A
EX

PN
O

3
PR

OC
NO

1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

06
15

Ti
me

20
.1

0
IN

ST
RU

M
cr

yo
50

0
PR

OB
HD

5
mm

CP
TC

I
1H

-
PU

LP
RO

G
Sp

in
Ec

ho
pg

30
gp

.p
rd

TD
65

41
8

SO
LV

EN
T

CD
Cl

3
NS

44
4

DS
16

SW
H

30
30

3.
03

1
Hz

FI
DR

ES
0.

46
32

22
Hz

AQ
1.

07
94

47
0

se
c

RG
11

58
5.

2
DW

16
.5

00
us

ec
DE

6.
00

us
ec

TE
29

8.
0

K
D1

0.
25

00
00

00
se

c
d1

1
0.

03
00

00
00

se
c

D1
6

0.
00

02
00

00
se

c
d1

7
0.

00
01

96
00

se
c

MC
RE

ST
0.

00
00

00
00

se
c

MC
WR

K
0.

01
50

00
00

se
c

P2
31

.0
0

us
ec

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
13

C
P1

15
.5

0
us

ec
P1

1
50

0.
00

us
ec

P1
2

20
00

.0
0

us
ec

PL
0

12
0.

00
dB

PL
1

-1
.0

0
dB

SF
O1

12
5.

79
42

54
8

MH
z

SP
1

3.
20

dB
SP

2
3.

20
dB

SP
NA

M1
Cr

p6
0,

0.
5,

20
.1

SP
NA

M2
Cr

p6
0c

om
p.

4
SP

OF
F1

0.
00

Hz
SP

OF
F2

0.
00

Hz

==
==

==
==

CH
AN

NE
L

f2
==

==
==

==
CP

DP
RG

2
wa

lt
z1

6
NU

C2
1H

PC
PD

2
10

0.
00

us
ec

PL
2

1.
60

dB
PL

12
24

.6
0

dB
SF

O2
50

0.
22

25
01

1
MH

z

==
==

==
GR

AD
IE

NT
CH

AN
NE

L
==

==
=

GP
NA

M1
SI

NE
.1

00
GP

NA
M2

SI
NE

.1
00

GP
X1

0.
00

%
GP

X2
0.

00
%

GP
Y1

0.
00

%
GP

Y2
0.

00
%

GP
Z1

30
.0

0
%

GP
Z2

50
.0

0
%

p1
5

50
0.

00
us

ec
p1

6
10

00
.0

0
us

ec

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
12

5.
78

04
01

5
MH

z
WD

W
EM

SS
B

0
LB

1.
00

Hz
GB

0
PC

2.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

40
.3

7
cm

F1
P

18
0.

00
0

pp
m

F1
22

64
0.

47
Hz

F2
P

0.
00

0
pp

m
F2

0.
00

Hz
PP

MC
M

7.
89

47
4

pp
m/

cm
HZ

CM
99

3.
00

32
3

Hz
/c

m

N
B

oc

N H
C

O
2t

-B
u

C
O

2t
-B

u

H
H

O

i
C

29
H

40
N

2O
7

M
W

:5
28

.6
3

Supporting Information S25



2
3

4
5

6
7

pp
m

Integral

1.0000

1.0003

0.9955
0.9947

1.1741

0.9976
1.0740

1.0669

1.9935

1.0060

0.9784

ppm

7.83937

7.59861
7.58557

7.41038
7.39688

7.16044
7.14823
7.13576
7.09648
7.08414
7.07205

4.99635
4.94790
4.94299

4.80200

4.41680
4.41125
4.40567
4.36285
4.35301

4.17674

3.96666

3.46308

3.34820
3.30976
3.22882

2.95575
2.94801
2.93413
2.92610
2.85673
2.83552
2.82886
2.81266
2.80638
2.79031
2.78403

2.09370
2.08587
2.07796
2.06823
2.06091
2.05323
2.04531
2.03745
2.02956
1.98986
1.96424

1H
sp

ec
tr

um

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

4-
26

5A
EX

PN
O

11
PR

OC
NO

1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

06
17

Ti
me

10
.3

6
IN

ST
RU

M
av

60
0

PR
OB

HD
5

mm
TB

I
1H

/1
3

PU
LP

RO
G

zg
30

TD
97

93
8

SO
LV

EN
T

CD
Cl

3T
NS

8
DS

2
SW

H
96

15
.3

85
Hz

FI
DR

ES
0.

09
81

78
Hz

AQ
5.

09
28

25
9

se
c

RG
14

4
DW

52
.0

00
us

ec
DE

6.
00

us
ec

TE
29

8.
1

K
D1

0.
10

00
00

00
se

c
TD

0
1

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
1H

P1
8.

00
us

ec
PL

1
-1

.0
0

dB
SF

O1
60

0.
13

42
00

9
MH

z

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
60

0.
13

00
19

9
MH

z
WD

W
EM

SS
B

0
LB

0.
30

Hz
GB

0
PC

1.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

88
.2

5
cm

F1
P

8.
00

0
pp

m
F1

48
01

.0
4

Hz
F2

P
1.

50
0

pp
m

F2
90

0.
19

Hz
PP

MC
M

0.
28

50
9

pp
m/

cm
HZ

CM
17

1.
08

97
1

Hz
/c

m

N
H

2+

N H
C

O
2HH

H
O

S
1

C
17

H
17

F 3
N

2O
5

M
ol

.W
t.:

38
6.

32

H
C

F 3
C

O
2–

Supporting Information S26



2
3

4
5

6
7

pp
m

Integral

1.0000

1.0088

1.0434
1.0338

1.0049

0.6380
0.3949

2.0922
0.4719
1.1124

0.3751

0.6689

0.6843
1.0366

0.3896

0.3890

1.0359

0.6528

ppm
7.57259
7.55867
7.54900
7.54329
7.53338
7.36695
7.35106
7.33592
7.27960
7.26298
7.14177
7.12530
7.11125
7.10925
7.09714
7.09512
7.08103
7.07916
7.06700
7.06479
7.03316
7.03143
7.02657
7.02472
7.01739
7.01071
7.00352
7.00164
6.99672
6.99492
6.97320

4.85542
4.41869
4.40293
4.39773
4.38275
4.37698
4.25319
4.23969
4.23246
4.22528
4.17387
4.16666
4.15949
4.06302
4.05798
3.82873
3.81740
3.76204
3.73925
3.71304
3.69657
3.48718
3.34885
3.31650
3.31325
3.30999
3.30675
3.30352
3.20596
3.02616
3.02011
2.73041
2.72407
2.66598
2.56947
2.56259
2.54329
2.53661
2.51700
2.51032
2.48106
2.47272
2.46994
2.46266
2.45497
2.44762
2.33097
2.32390
2.30441
2.29746
2.27830
2.01456
2.00995
1.97483
1.96442
1.95443
1.84596
1.83692
1.82843
1.81725
1.80966
1.80192
1.78993
1.78136
1.61851
1.58972

1H
sp

ec
tr

um

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

4-
26

5B
EX

PN
O

1
PR

OC
NO

1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

06
17

Ti
me

23
.1

5
IN

ST
RU

M
gn

50
0

PR
OB

HD
5

mm
br

oa
db

an
d

PU
LP

RO
G

zg
30

TD
81

72
8

SO
LV

EN
T

CD
3O

D
NS

8
DS

2
SW

H
80

12
.8

20
Hz

FI
DR

ES
0.

09
80

43
Hz

AQ
5.

09
98

77
4

se
c

RG
18

1
DW

62
.4

00
us

ec
DE

6.
00

us
ec

TE
29

8.
0

K
D1

0.
10

00
00

00
se

c
MC

RE
ST

0.
00

00
00

00
se

c
MC

WR
K

0.
01

50
00

00
se

c

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
1H

P1
13

.0
0

us
ec

PL
1

-4
.0

0
dB

SF
O1

49
9.

62
34

97
3

MH
z

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
49

9.
62

00
16

7
MH

z
WD

W
EM

SS
B

0
LB

0.
30

Hz
GB

0
PC

1.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

58
.7

0
cm

F1
P

8.
00

0
pp

m
F1

39
96

.9
6

Hz
F2

P
1.

55
0

pp
m

F2
77

4.
41

Hz
PP

MC
M

0.
28

28
9

pp
m/

cm
HZ

CM
14

1.
33

98
7

Hz
/c

m

N
H

N H
C

O
2M

e

H
H

O

H

17
C

16
H

18
N

2O
3

M
ol

.W
t.:

28
6.

33

M
eO

H

X

Supporting Information S27



0
1

2
3

4
5

6
7

8
pp

m

Integral

1.000

1.027

1.030

1.053
1.027

0.999
1.014

0.867

1.007

2.031

1.073

5.144

19.034

ppm

8.40129

7.60147
7.59354
7.58591
7.41581
7.39941
7.26990
7.23007
7.21417
7.19957
7.13539
7.11991
7.10550

5.30849

4.47532
4.47063
4.39023
4.38362
4.37716
3.65332
3.60099
3.59143
3.57722
3.57551
3.57209
3.57019
3.56399
3.55667
3.22304
3.21677
2.49531
2.47034
2.46247
2.44365
2.42485
2.41906
2.41719
1.95811
1.94836
1.92844
1.92439
1.91970
1.90484
1.89619
1.89142
1.88229
1.71635
1.71241
1.68711
1.68210
1.65620
1.61310
1.58809
1.54323
1.50778
1.48265
1.47255
1.46726
1.45916
1.45625
1.43570
1.43233
1.41439
1.37890
1.34368
1.26473
1.16504
0.91292
0.89928
0.89065
0.87724
0.07932

1H
sp

ec
tr

um

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

5-
14

0B
EX

PN
O

5
PR

OC
NO

1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

11
23

Ti
me

9.
10

IN
ST

RU
M

gn
50

0
PR

OB
HD

5
mm

br
oa

db
an

d
PU

LP
RO

G
zg

30
TD

81
72

8
SO

LV
EN

T
CD

Cl
3

NS
88

DS
2

SW
H

80
12

.8
20

Hz
FI

DR
ES

0.
09

80
43

Hz
AQ

5.
09

98
77

4
se

c
RG

14
48

.2
DW

62
.4

00
us

ec
DE

6.
00

us
ec

TE
29

8.
0

K
D1

0.
10

00
00

00
se

c
MC

RE
ST

0.
00

00
00

00
se

c
MC

WR
K

0.
01

50
00

00
se

c

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
1H

P1
13

.0
0

us
ec

PL
1

-4
.0

0
dB

SF
O1

49
9.

62
34

97
3

MH
z

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
49

9.
62

00
24

2
MH

z
WD

W
no

SS
B

0
LB

0.
00

Hz
GB

0
PC

1.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

74
.1

5
cm

F1
P

9.
00

0
pp

m
F1

44
96

.5
8

Hz
F2

P
-1

.0
00

pp
m

F2
-4

99
.6

2
Hz

PP
MC

M
0.

43
86

0
pp

m/
cm

HZ
CM

21
9.

13
15

9
Hz

/c
m

N
H

N H
C

O
2t

-B
u

C
O

2t
-B

u

H
H

O

ii
C

24
H

32
N

2O
5

M
ol

.W
t.:

42
8.

52

Supporting Information S28



20
40

60
80

10
0

12
0

14
0

16
0

pp
m

ppm

170.20
168.50

137.16

128.28

126.06

122.66

119.72
118.69

111.32
111.17

84.45
83.27

77.49
77.23
76.98

72.03

59.45

50.34

38.78

36.47

28.69
28.10

Z-
re

st
or

ed
sp

in
-e

ch
o

13
C

sp
ec

tr
um

wi
th

1H
de

co
up

li
ng

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

5-
14

0B
EX

PN
O

3
PR

OC
NO

1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

11
22

Ti
me

15
.4

4
IN

ST
RU

M
cr

yo
50

0
PR

OB
HD

5
mm

CP
TC

I
1H

-
PU

LP
RO

G
Sp

in
Ec

ho
pg

30
gp

.p
rd

TD
65

41
8

SO
LV

EN
T

CD
Cl

3
NS

41
4

DS
16

SW
H

30
30

3.
03

1
Hz

FI
DR

ES
0.

46
32

22
Hz

AQ
1.

07
94

47
0

se
c

RG
72

98
.2

DW
16

.5
00

us
ec

DE
6.

00
us

ec
TE

29
8.

0
K

D1
0.

25
00

00
00

se
c

d1
1

0.
03

00
00

00
se

c
D1

6
0.

00
02

00
00

se
c

d1
7

0.
00

01
96

00
se

c
MC

RE
ST

0.
00

00
00

00
se

c
MC

WR
K

0.
01

50
00

00
se

c
P2

31
.0

0
us

ec

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
13

C
P1

15
.5

0
us

ec
P1

1
50

0.
00

us
ec

P1
2

20
00

.0
0

us
ec

PL
0

12
0.

00
dB

PL
1

-1
.0

0
dB

SF
O1

12
5.

79
42

54
8

MH
z

SP
1

3.
20

dB
SP

2
3.

20
dB

SP
NA

M1
Cr

p6
0,

0.
5,

20
.1

SP
NA

M2
Cr

p6
0c

om
p.

4
SP

OF
F1

0.
00

Hz
SP

OF
F2

0.
00

Hz

==
==

==
==

CH
AN

NE
L

f2
==

==
==

==
CP

DP
RG

2
wa

lt
z1

6
NU

C2
1H

PC
PD

2
10

0.
00

us
ec

PL
2

1.
60

dB
PL

12
24

.6
0

dB
SF

O2
50

0.
22

25
01

1
MH

z

==
==

==
GR

AD
IE

NT
CH

AN
NE

L
==

==
=

GP
NA

M1
SI

NE
.1

00
GP

NA
M2

SI
NE

.1
00

GP
X1

0.
00

%
GP

X2
0.

00
%

GP
Y1

0.
00

%
GP

Y2
0.

00
%

GP
Z1

30
.0

0
%

GP
Z2

50
.0

0
%

p1
5

50
0.

00
us

ec
p1

6
10

00
.0

0
us

ec

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
12

5.
78

03
99

7
MH

z
WD

W
EM

SS
B

0
LB

1.
00

Hz
GB

0
PC

2.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

15
.6

5
cm

F1
P

18
0.

00
0

pp
m

F1
22

64
0.

47
Hz

F2
P

0.
00

0
pp

m
F2

0.
00

Hz
PP

MC
M

7.
89

47
4

pp
m/

cm
HZ

CM
99

3.
00

32
3

Hz
/c

m

N
H

N H
C

O
2t

-B
u

C
O

2t
-B

u

H
H

O

ii
C

24
H

32
N

2O
5

M
ol

.W
t.:

42
8.

52

Supporting Information S29



0
1

2
3

4
5

6
7

8
pp

m

Integral

1.0000

1.0502

1.0798

2.1723

1.0444
1.0287
1.0373

1.0663

3.1159

1.0482

1.0572

4.4980

1.1318
1.0410

1.0902
1.0903

0.9962

3.4384
3.4353

ppm

8.65611

7.57263
7.55701
7.38340
7.36740
7.26988
7.20378
7.18940
7.17448
7.14678
7.13191
7.11728

4.37593
4.36891
4.36170
4.30260
4.29595
4.26353
4.25203
4.04166
4.02809
4.01351
3.84933
3.81597
3.11826
3.10267
3.09161
3.07602
2.80976
2.80435
2.78929
2.77910
2.77446
2.76447
2.74967
2.73475
2.73035
2.71538
2.70070
2.68814
2.67339
2.66259
2.65855
2.64832
2.63349
2.62353
2.61877
2.60874
2.56135
2.54869
2.53471
2.52207
2.46138
2.45399
2.43960
2.43086
2.17898
1.99263
1.98714
1.96984
1.96489
1.93265
1.91463
1.90512
1.63733
1.60966
1.60561
1.31470
1.29989
1.28501
1.27734
1.26745
1.25265
1.23776

1H
sp

ec
tr

um

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

5-
67

HP
LC

1
EX

PN
O

2
PR

OC
NO

1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

09
02

Ti
me

14
.1

0
IN

ST
RU

M
cr

yo
50

0
PR

OB
HD

5
mm

CP
TC

I
1H

-
PU

LP
RO

G
zg

30
TD

81
72

8
SO

LV
EN

T
CD

Cl
3

NS
8

DS
2

SW
H

80
12

.8
20

Hz
FI

DR
ES

0.
09

80
43

Hz
AQ

5.
09

98
77

4
se

c
RG

6.
3

DW
62

.4
00

us
ec

DE
6.

00
us

ec
TE

29
8.

0
K

D1
0.

10
00

00
00

se
c

MC
RE

ST
0.

00
00

00
00

se
c

MC
WR

K
0.

01
50

00
00

se
c

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
1H

P1
7.

50
us

ec
PL

1
1.

60
dB

SF
O1

50
0.

22
35

01
5

MH
z

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
50

0.
22

00
26

8
MH

z
WD

W
EM

SS
B

0
LB

0.
30

Hz
GB

0
PC

4.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

24
.4

0
cm

F1
P

9.
00

0
pp

m
F1

45
01

.9
8

Hz
F2

P
-1

.0
00

pp
m

F2
-5

00
.2

2
Hz

PP
MC

M
0.

43
86

0
pp

m/
cm

HZ
CM

21
9.

39
47

6
Hz

/c
m

N

N H
C

O
2M

e

H
H

O
S

E
t

S
E

t

H

18
a

C
22

H
30

N
2O

3S
2

M
ol

.W
t.:

43
4.

62

Supporting Information S30



20
40

60
80

10
0

12
0

14
0

16
0

pp
m

ppm

173.29

136.96

132.11

128.32

122.20
120.19
119.05

111.29

104.40

77.48
77.23
76.98

71.46

62.00

57.44

52.52

50.24

43.42

40.93

36.00

27.32
24.69
24.60

14.85
14.82

Z-
re

st
or

ed
sp

in
-e

ch
o

13
C

sp
ec

tr
um

wi
th

1H
de

co
up

li
ng

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

5-
67

HP
LC

1
EX

PN
O

4
PR

OC
NO

1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

09
02

Ti
me

14
.1

2
IN

ST
RU

M
cr

yo
50

0
PR

OB
HD

5
mm

CP
TC

I
1H

-
PU

LP
RO

G
Sp

in
Ec

ho
pg

30
gp

.p
rd

TD
65

41
8

SO
LV

EN
T

CD
Cl

3
NS

18
1

DS
16

SW
H

30
30

3.
03

1
Hz

FI
DR

ES
0.

46
32

22
Hz

AQ
1.

07
94

47
0

se
c

RG
11

58
5.

2
DW

16
.5

00
us

ec
DE

6.
00

us
ec

TE
29

8.
0

K
D1

0.
25

00
00

00
se

c
d1

1
0.

03
00

00
00

se
c

D1
6

0.
00

02
00

00
se

c
d1

7
0.

00
01

96
00

se
c

MC
RE

ST
0.

00
00

00
00

se
c

MC
WR

K
0.

01
50

00
00

se
c

P2
31

.0
0

us
ec

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
13

C
P1

15
.5

0
us

ec
P1

1
50

0.
00

us
ec

P1
2

20
00

.0
0

us
ec

PL
0

12
0.

00
dB

PL
1

-1
.0

0
dB

SF
O1

12
5.

79
42

54
8

MH
z

SP
1

3.
20

dB
SP

2
3.

20
dB

SP
NA

M1
Cr

p6
0,

0.
5,

20
.1

SP
NA

M2
Cr

p6
0c

om
p.

4
SP

OF
F1

0.
00

Hz
SP

OF
F2

0.
00

Hz

==
==

==
==

CH
AN

NE
L

f2
==

==
==

==
CP

DP
RG

2
wa

lt
z1

6
NU

C2
1H

PC
PD

2
10

0.
00

us
ec

PL
2

1.
60

dB
PL

12
24

.6
0

dB
SF

O2
50

0.
22

25
01

1
MH

z

==
==

==
GR

AD
IE

NT
CH

AN
NE

L
==

==
=

GP
NA

M1
SI

NE
.1

00
GP

NA
M2

SI
NE

.1
00

GP
X1

0.
00

%
GP

X2
0.

00
%

GP
Y1

0.
00

%
GP

Y2
0.

00
%

GP
Z1

30
.0

0
%

GP
Z2

50
.0

0
%

p1
5

50
0.

00
us

ec
p1

6
10

00
.0

0
us

ec

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
12

5.
78

04
00

2
MH

z
WD

W
EM

SS
B

0
LB

1.
00

Hz
GB

0
PC

2.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

23
.5

2
cm

F1
P

18
0.

00
0

pp
m

F1
22

64
0.

47
Hz

F2
P

0.
00

0
pp

m
F2

0.
00

Hz
PP

MC
M

7.
89

47
4

pp
m/

cm
HZ

CM
99

3.
00

32
3

Hz
/c

m

N

N H
C

O
2M

e

H
H

O
S

E
t

S
E

t

H

18
a

C
22

H
30

N
2O

3S
2

M
ol

.W
t.:

43
4.

62

Supporting Information S31



0
1

2
3

4
5

6
7

8
pp

m

Integral

1.0000

1.0402

1.0695

1.1112
1.0920

2.0745

1.0445

3.0615
1.0513

1.0567

1.0380

5.3825

2.1127

2.1614

1.1546

3.2131
3.4045

ppm

8.37010

7.60461
7.58895
7.37629
7.36032
7.26994
7.20960
7.19512
7.17983
7.15316
7.13815
7.12354

4.32391
4.06443
4.05053
4.03665
3.85159
3.81626
3.74327
3.15728
3.14227
3.13061
3.11567
2.97154
2.79442
2.78421
2.77963
2.76954
2.75475
2.73977
2.72980
2.72452
2.71950
2.71494
2.70969
2.70465
2.70005
2.69504
2.68878
2.68002
2.67332
2.66379
2.65845
2.64856
2.64359
2.63380
2.57508
2.56195
2.54843
2.53512
2.52781
2.51929
2.50482
2.09487
2.08595
2.07705
2.05963
2.05200
2.03386
2.00990
1.71660
1.71214
1.68910
1.63770
1.32030
1.30544
1.29065
1.27803
1.26317
1.24833

1H
sp

ec
tr

um

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

5-
67

HP
LC

2
EX

PN
O

2
PR

OC
NO

1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

09
07

Ti
me

10
.2

0
IN

ST
RU

M
cr

yo
50

0
PR

OB
HD

5
mm

CP
TC

I
1H

-
PU

LP
RO

G
zg

30
TD

81
72

8
SO

LV
EN

T
CD

Cl
3

NS
8

DS
2

SW
H

80
12

.8
20

Hz
FI

DR
ES

0.
09

80
43

Hz
AQ

5.
09

98
77

4
se

c
RG

5.
7

DW
62

.4
00

us
ec

DE
6.

00
us

ec
TE

29
8.

0
K

D1
0.

10
00

00
00

se
c

MC
RE

ST
0.

00
00

00
00

se
c

MC
WR

K
0.

01
50

00
00

se
c

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
1H

P1
7.

50
us

ec
PL

1
1.

60
dB

SF
O1

50
0.

22
35

01
5

MH
z

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
50

0.
22

00
26

8
MH

z
WD

W
EM

SS
B

0
LB

0.
30

Hz
GB

0
PC

4.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

22
.9

7
cm

F1
P

9.
00

0
pp

m
F1

45
01

.9
8

Hz
F2

P
-1

.0
00

pp
m

F2
-5

00
.2

2
Hz

PP
MC

M
0.

43
86

0
pp

m/
cm

HZ
CM

21
9.

39
47

6
Hz

/c
m

N

N H
C

O
2M

e

H
H

O
S

E
t

S
E

t

H

18
b

C
22

H
30

N
2O

3S
2

M
ol

.W
t.:

43
4.

62

Supporting Information S32



20
40

60
80

10
0

12
0

14
0

16
0

pp
m

ppm

173.82

136.76

130.69

128.48

122.44
120.30
119.46

111.11

106.25

77.48
77.23
76.97

70.36

62.08

57.01

53.28

50.21

43.59

35.69

31.59

24.67
24.62

14.84
14.82

Z-
re

st
or

ed
sp

in
-e

ch
o

13
C

sp
ec

tr
um

wi
th

1H
de

co
up

li
ng

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

5-
67

HP
LC

2
EX

PN
O

4
PR

OC
NO

1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

09
07

Ti
me

10
.2

4
IN

ST
RU

M
cr

yo
50

0
PR

OB
HD

5
mm

CP
TC

I
1H

-
PU

LP
RO

G
Sp

in
Ec

ho
pg

30
gp

.p
rd

TD
65

41
8

SO
LV

EN
T

CD
Cl

3
NS

27
2

DS
16

SW
H

30
30

3.
03

1
Hz

FI
DR

ES
0.

46
32

22
Hz

AQ
1.

07
94

47
0

se
c

RG
72

98
.2

DW
16

.5
00

us
ec

DE
6.

00
us

ec
TE

29
8.

0
K

D1
0.

25
00

00
00

se
c

d1
1

0.
03

00
00

00
se

c
D1

6
0.

00
02

00
00

se
c

d1
7

0.
00

01
96

00
se

c
MC

RE
ST

0.
00

00
00

00
se

c
MC

WR
K

0.
01

50
00

00
se

c
P2

31
.0

0
us

ec

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
13

C
P1

15
.5

0
us

ec
P1

1
50

0.
00

us
ec

P1
2

20
00

.0
0

us
ec

PL
0

12
0.

00
dB

PL
1

-1
.0

0
dB

SF
O1

12
5.

79
42

54
8

MH
z

SP
1

3.
20

dB
SP

2
3.

20
dB

SP
NA

M1
Cr

p6
0,

0.
5,

20
.1

SP
NA

M2
Cr

p6
0c

om
p.

4
SP

OF
F1

0.
00

Hz
SP

OF
F2

0.
00

Hz

==
==

==
==

CH
AN

NE
L

f2
==

==
==

==
CP

DP
RG

2
wa

lt
z1

6
NU

C2
1H

PC
PD

2
10

0.
00

us
ec

PL
2

1.
60

dB
PL

12
24

.6
0

dB
SF

O2
50

0.
22

25
01

1
MH

z

==
==

==
GR

AD
IE

NT
CH

AN
NE

L
==

==
=

GP
NA

M1
SI

NE
.1

00
GP

NA
M2

SI
NE

.1
00

GP
X1

0.
00

%
GP

X2
0.

00
%

GP
Y1

0.
00

%
GP

Y2
0.

00
%

GP
Z1

30
.0

0
%

GP
Z2

50
.0

0
%

p1
5

50
0.

00
us

ec
p1

6
10

00
.0

0
us

ec

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
12

5.
78

04
01

1
MH

z
WD

W
EM

SS
B

0
LB

1.
00

Hz
GB

0
PC

2.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

15
.6

5
cm

F1
P

18
0.

00
0

pp
m

F1
22

64
0.

47
Hz

F2
P

0.
00

0
pp

m
F2

0.
00

Hz
PP

MC
M

7.
89

47
4

pp
m/

cm
HZ

CM
99

3.
00

32
3

Hz
/c

m

N

N H
C

O
2M

e

H
H

O
S

E
t

S
E

t

H

18
b

C
22

H
30

N
2O

3S
2

M
ol

.W
t.:

43
4.

62

Supporting Information S33



0
1

2
3

4
5

6
7

8
pp

m

Integral

1.0000

2.1563

1.0634

1.0545

1.0191

1.9937

3.3758

2.0932

1.1393

1.1173

1.1620

2.4598

2.4610

3.1738

ppm

8.81908

7.27006
7.18327
7.17043
7.15946
7.14828
6.93769
6.92531
6.91293
6.81401
6.80117

4.16694
4.16183
4.15687
4.00266
3.99373
3.98463
3.97393
3.78776
3.76806
3.72495
3.28743
3.27640
3.26701
3.25697
3.03692
3.02994
3.02241
3.01754
3.00991
3.00318
2.88760
2.86812
2.84854
2.47210
2.46077
2.45411
2.44348
2.42439
2.31657
2.30418
2.29549
2.29189
2.28356
2.27123
2.25897
2.24146
2.22913
2.21680
2.20847
2.20481
2.19618
2.18390
1.87030
1.86350
1.85497
1.84700
1.83943
1.82340
1.81301
1.41529
1.31811
1.29951
1.26179
1.03942
1.02707
1.01474
0.99683
0.99135
0.07552

1H
sp

ec
tr

um

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

5-
75

C
EX

PN
O

14
PR

OC
NO

1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

09
09

Ti
me

18
.3

7
IN

ST
RU

M
av

60
0

PR
OB

HD
5

mm
BB

O
BB

-1
H

PU
LP

RO
G

zg
30

TD
97

93
8

SO
LV

EN
T

CD
Cl

3
NS

8
DS

2
SW

H
96

15
.3

85
Hz

FI
DR

ES
0.

09
81

78
Hz

AQ
5.

09
28

25
9

se
c

RG
20

3
DW

52
.0

00
us

ec
DE

6.
00

us
ec

TE
29

8.
4

K
D1

0.
10

00
00

00
se

c
TD

0
1

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
1H

P1
9.

00
us

ec
PL

1
-5

.3
0

dB
SF

O1
60

0.
13

30
00

6
MH

z

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
60

0.
13

00
28

9
MH

z
WD

W
EM

SS
B

0
LB

0.
30

Hz
GB

0
PC

1.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

15
.0

0
cm

F1
P

9.
00

0
pp

m
F1

54
01

.1
7

Hz
F2

P
-1

.0
00

pp
m

F2
-6

00
.1

3
Hz

PP
MC

M
0.

43
86

0
pp

m/
cm

HZ
CM

26
3.

21
49

4
Hz

/c
m

N

N H
C

O
2M

e

E
tS

H
H

O 19
C

20
H

24
N

2O
3S

M
ol

.W
t.:

37
2.

48

Supporting Information S34



20
40

60
80

10
0

12
0

14
0

16
0

pp
m

ppm

170.72
168.83

145.53

132.32

128.48

124.00

120.29

109.67

93.99

77.49
77.23
76.98

68.38
67.08

63.32

58.66

55.47

51.47

45.63

34.94

27.22
26.89

14.93

Z-
re

st
or

ed
sp

in
-e

ch
o

13
C

sp
ec

tr
um

wi
th

1H
de

co
up

li
ng

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

5-
75

C
EX

PN
O

3
PR

OC
NO

1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

09
09

Ti
me

18
.0

1
IN

ST
RU

M
cr

yo
50

0
PR

OB
HD

5
mm

CP
TC

I
1H

-
PU

LP
RO

G
Sp

in
Ec

ho
pg

30
gp

.p
rd

TD
65

41
8

SO
LV

EN
T

CD
Cl

3
NS

17
6

DS
16

SW
H

30
30

3.
03

1
Hz

FI
DR

ES
0.

46
32

22
Hz

AQ
1.

07
94

47
0

se
c

RG
72

98
.2

DW
16

.5
00

us
ec

DE
6.

00
us

ec
TE

29
8.

0
K

D1
0.

25
00

00
00

se
c

d1
1

0.
03

00
00

00
se

c
D1

6
0.

00
02

00
00

se
c

d1
7

0.
00

01
96

00
se

c
MC

RE
ST

0.
00

00
00

00
se

c
MC

WR
K

0.
01

50
00

00
se

c
P2

31
.0

0
us

ec

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
13

C
P1

15
.5

0
us

ec
P1

1
50

0.
00

us
ec

P1
2

20
00

.0
0

us
ec

PL
0

12
0.

00
dB

PL
1

-1
.0

0
dB

SF
O1

12
5.

79
42

54
8

MH
z

SP
1

3.
20

dB
SP

2
3.

20
dB

SP
NA

M1
Cr

p6
0,

0.
5,

20
.1

SP
NA

M2
Cr

p6
0c

om
p.

4
SP

OF
F1

0.
00

Hz
SP

OF
F2

0.
00

Hz

==
==

==
==

CH
AN

NE
L

f2
==

==
==

==
CP

DP
RG

2
wa

lt
z1

6
NU

C2
1H

PC
PD

2
10

0.
00

us
ec

PL
2

1.
60

dB
PL

12
24

.6
0

dB
SF

O2
50

0.
22

25
01

1
MH

z

==
==

==
GR

AD
IE

NT
CH

AN
NE

L
==

==
=

GP
NA

M1
SI

NE
.1

00
GP

NA
M2

SI
NE

.1
00

GP
X1

0.
00

%
GP

X2
0.

00
%

GP
Y1

0.
00

%
GP

Y2
0.

00
%

GP
Z1

30
.0

0
%

GP
Z2

50
.0

0
%

p1
5

50
0.

00
us

ec
p1

6
10

00
.0

0
us

ec

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
12

5.
78

04
02

0
MH

z
WD

W
EM

SS
B

0
LB

1.
00

Hz
GB

0
PC

2.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

8.
95

cm
F1

P
18

0.
00

0
pp

m
F1

22
64

0.
47

Hz
F2

P
0.

00
0

pp
m

F2
0.

00
Hz

PP
MC

M
7.

89
47

4
pp

m/
cm

HZ
CM

99
3.

00
32

3
Hz

/c
m

N

N H
C

O
2M

e

E
tS

H
H

O 19
C

20
H

24
N

2O
3S

M
ol

.W
t.:

37
2.

48

Supporting Information S35



0
1

2
3

4
5

6
7

8
9

pp
m

Integral

1.0000

1.0383
1.0274

1.0255
1.0123

1.0045

1.0171

3.0911

1.0250

1.0153

3.0863

1.0292

1.2001

3.1622

ppm

8.90051

7.27011
7.16411
7.14942
7.12000
7.10463
7.08929
6.90882
6.89380
6.87901
6.82111
6.80561

4.13652
4.12989
4.12318
3.89742
3.89361
3.75265
3.22623
3.01761
3.00934
2.99606
2.97549
2.92265
2.90901
2.89699
2.88695
2.88318
2.86713
2.84759
2.84177
2.83502
2.82812
2.82231
2.81795
2.81266
2.37077
2.36065
2.34652
2.33630
2.32254
2.31223
2.06082
2.04075
1.94615
1.83507
1.82101
1.81737
1.80871
1.79803
1.78656
1.77689
1.77016
1.76034
1.75231
1.28805
1.25675

1H
sp

ec
tr

um

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

4-
29

9c
h

EX
PN

O
3

PR
OC

NO
1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

07
15

Ti
me

18
.3

4
IN

ST
RU

M
cr

yo
50

0
PR

OB
HD

5
mm

CP
TC

I
1H

-
PU

LP
RO

G
zg

30
TD

81
72

8
SO

LV
EN

T
CD

Cl
3

NS
8

DS
2

SW
H

80
12

.8
20

Hz
FI

DR
ES

0.
09

80
43

Hz
AQ

5.
09

98
77

4
se

c
RG

5
DW

62
.4

00
us

ec
DE

6.
00

us
ec

TE
29

8.
0

K
D1

0.
10

00
00

00
se

c
MC

RE
ST

0.
00

00
00

00
se

c
MC

WR
K

0.
01

50
00

00
se

c

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
1H

P1
7.

50
us

ec
PL

1
1.

60
dB

SF
O1

50
0.

22
35

01
5

MH
z

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
50

0.
22

00
26

6
MH

z
WD

W
EM

SS
B

0
LB

0.
30

Hz
GB

0
PC

4.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

23
.5

6
cm

F1
P

9.
50

0
pp

m
F1

47
52

.0
9

Hz
F2

P
-1

.0
00

pp
m

F2
-5

00
.2

2
Hz

PP
MC

M
0.

46
05

3
pp

m/
cm

HZ
CM

23
0.

36
45

0
Hz

/c
m

N

N H
C

O
2M

e

H
H

O S
2

C
18

H
20

N
2O

3
M

ol
.W

t.:
31

2.
36

Supporting Information S36



20
40

60
80

10
0

12
0

14
0

16
0

pp
m

ppm

171.25

168.99

143.83

137.11

127.48

121.48
119.83

110.03

93.07

77.48
77.23
76.98

68.41
67.25

55.35
54.44

51.34

44.36
43.72

35.33

26.95

Z-
re

st
or

ed
sp

in
-e

ch
o

13
C

sp
ec

tr
um

wi
th

1H
de

co
up

li
ng

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

4-
29

9c
h

EX
PN

O
5

PR
OC

NO
1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

07
15

Ti
me

18
.3

7
IN

ST
RU

M
cr

yo
50

0
PR

OB
HD

5
mm

CP
TC

I
1H

-
PU

LP
RO

G
Sp

in
Ec

ho
pg

30
gp

.p
rd

TD
65

41
8

SO
LV

EN
T

CD
Cl

3
NS

10
8

DS
16

SW
H

30
30

3.
03

1
Hz

FI
DR

ES
0.

46
32

22
Hz

AQ
1.

07
94

47
0

se
c

RG
11

58
5.

2
DW

16
.5

00
us

ec
DE

6.
00

us
ec

TE
29

8.
0

K
D1

0.
25

00
00

00
se

c
d1

1
0.

03
00

00
00

se
c

D1
6

0.
00

02
00

00
se

c
d1

7
0.

00
01

96
00

se
c

MC
RE

ST
0.

00
00

00
00

se
c

MC
WR

K
0.

01
50

00
00

se
c

P2
31

.0
0

us
ec

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
13

C
P1

15
.5

0
us

ec
P1

1
50

0.
00

us
ec

P1
2

20
00

.0
0

us
ec

PL
0

12
0.

00
dB

PL
1

-1
.0

0
dB

SF
O1

12
5.

79
42

54
8

MH
z

SP
1

3.
20

dB
SP

2
3.

20
dB

SP
NA

M1
Cr

p6
0,

0.
5,

20
.1

SP
NA

M2
Cr

p6
0c

om
p.

4
SP

OF
F1

0.
00

Hz
SP

OF
F2

0.
00

Hz

==
==

==
==

CH
AN

NE
L

f2
==

==
==

==
CP

DP
RG

2
wa

lt
z1

6
NU

C2
1H

PC
PD

2
10

0.
00

us
ec

PL
2

1.
60

dB
PL

12
24

.6
0

dB
SF

O2
50

0.
22

25
01

1
MH

z

==
==

==
GR

AD
IE

NT
CH

AN
NE

L
==

==
=

GP
NA

M1
SI

NE
.1

00
GP

NA
M2

SI
NE

.1
00

GP
X1

0.
00

%
GP

X2
0.

00
%

GP
Y1

0.
00

%
GP

Y2
0.

00
%

GP
Z1

30
.0

0
%

GP
Z2

50
.0

0
%

p1
5

50
0.

00
us

ec
p1

6
10

00
.0

0
us

ec

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
12

5.
78

04
02

9
MH

z
WD

W
EM

SS
B

0
LB

1.
00

Hz
GB

0
PC

2.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

10
.0

3
cm

F1
P

18
0.

00
0

pp
m

F1
22

64
0.

47
Hz

F2
P

0.
00

0
pp

m
F2

0.
00

Hz
PP

MC
M

7.
89

47
4

pp
m/

cm
HZ

CM
99

3.
00

32
3

Hz
/c

m

N

N H
C

O
2M

e

H
H

O S
2

C
18

H
20

N
2O

3
M

ol
.W

t.:
31

2.
36

Supporting Information S37



HPLC chromatogram of (+)-S2

HPLC chromatogram of (±)-S2

Conditions:

Column: Chiralpak AD

Flow: 1.0 mL/min

Mobile Phase: 70:30 n-hexanes:i-PrOH

Wavelength: 254 nm

Supporting Information S38



0
1

2
3

4
5

6
7

8
9

pp
m

Integral

1.0000

1.9645

1.0076

1.0200

0.9751

3.0532

0.9637

3.0030

2.0418

1.0142

1.0093
1.0593

ppm

8.85042

7.27009
7.15800
7.14307
7.12851
6.92038
6.90536
6.89050
6.79791
6.78225

3.91597
3.91297
3.76595
3.48585
3.48062
3.47538
3.47021
3.25168
3.24221
3.23235
3.22895
3.21906
3.20038
3.18500
3.16966
3.16326
3.15352
3.14590
3.13564
3.12629
3.11769
3.10785
2.93803
2.92113
2.90920
2.89744
2.88161
2.87115
2.42695
2.41638
2.40922
2.39895
2.39066
2.24451
2.22867
2.21723
2.20123
2.15117
2.13814
2.12683
2.11517
2.10246
1.65359

1H
sp

ec
tr

um

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

4-
30

1c
h

EX
PN

O
4

PR
OC

NO
1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

07
16

Ti
me

17
.4

3
IN

ST
RU

M
cr

yo
50

0
PR

OB
HD

5
mm

CP
TC

I
1H

-
PU

LP
RO

G
zg

30
TD

81
72

8
SO

LV
EN

T
CD

Cl
3

NS
8

DS
2

SW
H

80
12

.8
20

Hz
FI

DR
ES

0.
09

80
43

Hz
AQ

5.
09

98
77

4
se

c
RG

7.
1

DW
62

.4
00

us
ec

DE
6.

00
us

ec
TE

29
8.

0
K

D1
0.

10
00

00
00

se
c

MC
RE

ST
0.

00
00

00
00

se
c

MC
WR

K
0.

01
50

00
00

se
c

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
1H

P1
7.

50
us

ec
PL

1
1.

60
dB

SF
O1

50
0.

22
35

01
5

MH
z

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
50

0.
22

00
26

7
MH

z
WD

W
EM

SS
B

0
LB

0.
30

Hz
GB

0
PC

4.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

15
.0

0
cm

F1
P

9.
50

0
pp

m
F1

47
52

.0
9

Hz
F2

P
-1

.0
00

pp
m

F2
-5

00
.2

2
Hz

PP
MC

M
0.

46
05

3
pp

m/
cm

HZ
CM

23
0.

36
45

0
Hz

/c
m

N

N H
C

O
2M

e

O

20
C

18
H

18
N

2O
3

M
ol

.W
t.:

31
0.

35

Supporting Information S39



20
40

60
80

10
0

12
0

14
0

16
0

18
0

20
0

pp
m

ppm

213.41

167.61
166.81

144.56

133.89

128.59

121.86
120.86

110.29

97.77

77.48
77.23
76.98

67.62

64.12

53.79
51.67

47.09
46.34

41.96

30.28

Z-
re

st
or

ed
sp

in
-e

ch
o

13
C

sp
ec

tr
um

wi
th

1H
de

co
up

li
ng

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

4-
30

1c
h

EX
PN

O
3

PR
OC

NO
1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

07
16

Ti
me

16
.3

5
IN

ST
RU

M
cr

yo
50

0
PR

OB
HD

5
mm

CP
TC

I
1H

-
PU

LP
RO

G
Sp

in
Ec

ho
pg

30
gp

.p
rd

TD
65

41
8

SO
LV

EN
T

CD
Cl

3
NS

28
2

DS
16

SW
H

30
30

3.
03

1
Hz

FI
DR

ES
0.

46
32

22
Hz

AQ
1.

07
94

47
0

se
c

RG
72

98
.2

DW
16

.5
00

us
ec

DE
6.

00
us

ec
TE

29
8.

0
K

D1
0.

25
00

00
00

se
c

d1
1

0.
03

00
00

00
se

c
D1

6
0.

00
02

00
00

se
c

d1
7

0.
00

01
96

00
se

c
MC

RE
ST

0.
00

00
00

00
se

c
MC

WR
K

0.
01

50
00

00
se

c
P2

31
.0

0
us

ec

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
13

C
P1

15
.5

0
us

ec
P1

1
50

0.
00

us
ec

P1
2

20
00

.0
0

us
ec

PL
0

12
0.

00
dB

PL
1

-1
.0

0
dB

SF
O1

12
5.

79
42

54
8

MH
z

SP
1

3.
20

dB
SP

2
3.

20
dB

SP
NA

M1
Cr

p6
0,

0.
5,

20
.1

SP
NA

M2
Cr

p6
0c

om
p.

4
SP

OF
F1

0.
00

Hz
SP

OF
F2

0.
00

Hz

==
==

==
==

CH
AN

NE
L

f2
==

==
==

==
CP

DP
RG

2
wa

lt
z1

6
NU

C2
1H

PC
PD

2
10

0.
00

us
ec

PL
2

1.
60

dB
PL

12
24

.6
0

dB
SF

O2
50

0.
22

25
01

1
MH

z

==
==

==
GR

AD
IE

NT
CH

AN
NE

L
==

==
=

GP
NA

M1
SI

NE
.1

00
GP

NA
M2

SI
NE

.1
00

GP
X1

0.
00

%
GP

X2
0.

00
%

GP
Y1

0.
00

%
GP

Y2
0.

00
%

GP
Z1

30
.0

0
%

GP
Z2

50
.0

0
%

p1
5

50
0.

00
us

ec
p1

6
10

00
.0

0
us

ec

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
12

5.
78

03
99

7
MH

z
WD

W
EM

SS
B

0
LB

1.
00

Hz
GB

0
PC

2.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

15
.6

5
cm

F1
P

22
0.

00
0

pp
m

F1
27

67
1.

69
Hz

F2
P

0.
00

0
pp

m
F2

0.
00

Hz
PP

MC
M

9.
64

91
2

pp
m/

cm
HZ

CM
12

13
.6

70
78

Hz
/c

m

N

N H
C

O
2M

e

O

20
C

18
H

18
N

2O
3

M
ol

.W
t.:

31
0.

35

Supporting Information S40



0
1

2
3

4
5

6
7

8
pp

m

Integral

1.2828

1.1662
1.2349

1.1966
1.1658

1.2173

1.1578

1.2243

3.3248

3.6194

1.2402
1.3177

3.7185

3.3634

ppm

8.68133

7.27008
7.18997
7.17533
7.13165
7.11637
7.10105
6.90863
6.89369
6.87886
6.78991
6.77442

5.34007
5.32665
5.31315
5.29973

4.11831
3.91272
3.79945
3.09414
3.08036
3.07450
3.06058
3.04426
3.03037
3.01839
3.00486
2.99899
2.99211
2.98499
2.97770
2.96897
2.96179
2.95514
2.80533
2.79110
2.78606
2.77942
2.77203
2.76524
2.74611
2.68574
2.67062
2.66012
2.64487
2.63446
1.98792
1.98129
1.97462
1.96768
1.96206
1.95538
1.94856
1.94197
1.91567
1.89052
1.87641
1.86440
1.85029
1.60067
1.58716
1.26057

1H
sp

ec
tr

um

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

5-
13

4f
2

EX
PN

O
2

PR
OC

NO
1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

10
28

Ti
me

14
.4

2
IN

ST
RU

M
cr

yo
50

0
PR

OB
HD

5
mm

CP
TC

I
1H

-
PU

LP
RO

G
zg

30
TD

81
72

8
SO

LV
EN

T
CD

Cl
3

NS
6

DS
2

SW
H

80
12

.8
20

Hz
FI

DR
ES

0.
09

80
43

Hz
AQ

5.
09

98
77

4
se

c
RG

5
DW

62
.4

00
us

ec
DE

6.
00

us
ec

TE
29

8.
0

K
D1

0.
10

00
00

00
se

c
MC

RE
ST

0.
00

00
00

00
se

c
MC

WR
K

0.
01

50
00

00
se

c

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
1H

P1
7.

50
us

ec
PL

1
1.

60
dB

SF
O1

50
0.

22
35

01
5

MH
z

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
50

0.
22

00
27

1
MH

z
WD

W
EM

SS
B

0
LB

0.
30

Hz
GB

0
PC

4.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

15
.0

0
cm

F1
P

9.
00

0
pp

m
F1

45
01

.9
8

Hz
F2

P
-1

.0
00

pp
m

F2
-5

00
.2

2
Hz

PP
MC

M
0.

43
86

0
pp

m/
cm

HZ
CM

21
9.

39
47

6
Hz

/c
m

N

N H
C

O
2M

e

2a
C

20
H

22
N

2O
2

M
ol

.W
t.:

32
2.

40

Supporting Information S41



20
40

60
80

10
0

12
0

14
0

16
0

pp
m

ppm

169.66
168.31

144.70

137.83

135.70

127.81

121.19
120.38

117.37

109.85

101.62

77.48
77.23
76.98

69.07

60.19

53.40
51.42

46.29
45.46

29.24
28.61

13.27

Z-
re

st
or

ed
sp

in
-e

ch
o

13
C

sp
ec

tr
um

wi
th

1H
de

co
up

li
ng

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

5-
13

4f
2

EX
PN

O
4

PR
OC

NO
1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

10
28

Ti
me

14
.4

4
IN

ST
RU

M
cr

yo
50

0
PR

OB
HD

5
mm

CP
TC

I
1H

-
PU

LP
RO

G
Sp

in
Ec

ho
pg

30
gp

.p
rd

TD
65

41
8

SO
LV

EN
T

CD
Cl

3
NS

37
1

DS
16

SW
H

30
30

3.
03

1
Hz

FI
DR

ES
0.

46
32

22
Hz

AQ
1.

07
94

47
0

se
c

RG
11

58
5.

2
DW

16
.5

00
us

ec
DE

6.
00

us
ec

TE
29

8.
0

K
D1

0.
25

00
00

00
se

c
d1

1
0.

03
00

00
00

se
c

D1
6

0.
00

02
00

00
se

c
d1

7
0.

00
01

96
00

se
c

MC
RE

ST
0.

00
00

00
00

se
c

MC
WR

K
0.

01
50

00
00

se
c

P2
31

.0
0

us
ec

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
13

C
P1

15
.5

0
us

ec
P1

1
50

0.
00

us
ec

P1
2

20
00

.0
0

us
ec

PL
0

12
0.

00
dB

PL
1

-1
.0

0
dB

SF
O1

12
5.

79
42

54
8

MH
z

SP
1

3.
20

dB
SP

2
3.

20
dB

SP
NA

M1
Cr

p6
0,

0.
5,

20
.1

SP
NA

M2
Cr

p6
0c

om
p.

4
SP

OF
F1

0.
00

Hz
SP

OF
F2

0.
00

Hz

==
==

==
==

CH
AN

NE
L

f2
==

==
==

==
CP

DP
RG

2
wa

lt
z1

6
NU

C2
1H

PC
PD

2
10

0.
00

us
ec

PL
2

1.
60

dB
PL

12
24

.6
0

dB
SF

O2
50

0.
22

25
01

1
MH

z

==
==

==
GR

AD
IE

NT
CH

AN
NE

L
==

==
=

GP
NA

M1
SI

NE
.1

00
GP

NA
M2

SI
NE

.1
00

GP
X1

0.
00

%
GP

X2
0.

00
%

GP
Y1

0.
00

%
GP

Y2
0.

00
%

GP
Z1

30
.0

0
%

GP
Z2

50
.0

0
%

p1
5

50
0.

00
us

ec
p1

6
10

00
.0

0
us

ec

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
12

5.
78

04
00

2
MH

z
WD

W
EM

SS
B

0
LB

1.
00

Hz
GB

0
PC

2.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

15
.6

5
cm

F1
P

18
0.

00
0

pp
m

F1
22

64
0.

47
Hz

F2
P

0.
00

0
pp

m
F2

0.
00

Hz
PP

MC
M

7.
89

47
4

pp
m/

cm
HZ

CM
99

3.
00

32
3

Hz
/c

m

N

N H
C

O
2M

e

2a
C

20
H

22
N

2O
2

M
ol

.W
t.:

32
2.

40

Supporting Information S42



0
1

2
3

4
5

6
7

8
pp

m

Integral

1.0279

1.0091
1.0407

1.0349
1.0305

1.0065

1.0000

3.1389

1.0003

1.0602
2.0636

1.0378

1.0438

1.1226
2.1109

3.1100

ppm

8.66972

7.26996
7.22696
7.21227
7.13111
7.11587
7.10049
6.90384
6.88901
6.87410
6.79208
6.77653

5.43272
5.41942
5.40573
5.39250

4.65189
3.77753
3.42885
3.12062
3.10673
3.10146
3.08724
3.05117
3.03891
3.02629
3.01405
3.00142
2.99429
2.98557
2.97839
2.97162
2.83427
2.82007
2.81511
2.80840
2.80119
2.79402
2.78967
2.77503
2.67629
2.66313
2.64996
2.63750
2.62406
2.00772
2.00134
1.99437
1.98771
1.98195
1.97496
1.96841
1.96202
1.92154
1.91016
1.89857
1.88657
1.60624
1.59270
1.26062

1H
sp

ec
tr

um

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

5-
13

4f
1

EX
PN

O
2

PR
OC

NO
1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

10
28

Ti
me

16
.0

3
IN

ST
RU

M
cr

yo
50

0
PR

OB
HD

5
mm

CP
TC

I
1H

-
PU

LP
RO

G
zg

30
TD

81
72

8
SO

LV
EN

T
CD

Cl
3

NS
8

DS
2

SW
H

80
12

.8
20

Hz
FI

DR
ES

0.
09

80
43

Hz
AQ

5.
09

98
77

4
se

c
RG

4.
5

DW
62

.4
00

us
ec

DE
6.

00
us

ec
TE

29
8.

0
K

D1
0.

10
00

00
00

se
c

MC
RE

ST
0.

00
00

00
00

se
c

MC
WR

K
0.

01
50

00
00

se
c

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
1H

P1
7.

50
us

ec
PL

1
1.

60
dB

SF
O1

50
0.

22
35

01
5

MH
z

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
50

0.
22

00
27

2
MH

z
WD

W
no

SS
B

0
LB

0.
00

Hz
GB

0
PC

4.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

15
.0

0
cm

F1
P

9.
00

0
pp

m
F1

45
01

.9
8

Hz
F2

P
-1

.0
00

pp
m

F2
-5

00
.2

2
Hz

PP
MC

M
0.

43
86

0
pp

m/
cm

HZ
CM

21
9.

39
47

6
Hz

/c
m

N

N H
C

O
2M

e

2b
C

20
H

22
N

2O
2

M
ol

.W
t.:

32
2.

40

Supporting Information S43



20
40

60
80

10
0

12
0

14
0

16
0

pp
m

ppm

169.22
168.22

144.79

137.56
135.55

127.81

121.22
120.15
117.87

109.91

102.25

77.48
77.23
76.98

60.46
60.07

53.63

51.36

46.20
45.27

37.65

29.91
29.06

13.13

Z-
re

st
or

ed
sp

in
-e

ch
o

13
C

sp
ec

tr
um

wi
th

1H
de

co
up

li
ng

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

5-
13

4f
1

EX
PN

O
4

PR
OC

NO
1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

10
28

Ti
me

16
.0

6
IN

ST
RU

M
cr

yo
50

0
PR

OB
HD

5
mm

CP
TC

I
1H

-
PU

LP
RO

G
Sp

in
Ec

ho
pg

30
gp

.p
rd

TD
65

41
8

SO
LV

EN
T

CD
Cl

3
NS

32
6

DS
16

SW
H

30
30

3.
03

1
Hz

FI
DR

ES
0.

46
32

22
Hz

AQ
1.

07
94

47
0

se
c

RG
72

98
.2

DW
16

.5
00

us
ec

DE
6.

00
us

ec
TE

29
8.

0
K

D1
0.

25
00

00
00

se
c

d1
1

0.
03

00
00

00
se

c
D1

6
0.

00
02

00
00

se
c

d1
7

0.
00

01
96

00
se

c
MC

RE
ST

0.
00

00
00

00
se

c
MC

WR
K

0.
01

50
00

00
se

c
P2

31
.0

0
us

ec

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
13

C
P1

15
.5

0
us

ec
P1

1
50

0.
00

us
ec

P1
2

20
00

.0
0

us
ec

PL
0

12
0.

00
dB

PL
1

-1
.0

0
dB

SF
O1

12
5.

79
42

54
8

MH
z

SP
1

3.
20

dB
SP

2
3.

20
dB

SP
NA

M1
Cr

p6
0,

0.
5,

20
.1

SP
NA

M2
Cr

p6
0c

om
p.

4
SP

OF
F1

0.
00

Hz
SP

OF
F2

0.
00

Hz

==
==

==
==

CH
AN

NE
L

f2
==

==
==

==
CP

DP
RG

2
wa

lt
z1

6
NU

C2
1H

PC
PD

2
10

0.
00

us
ec

PL
2

1.
60

dB
PL

12
24

.6
0

dB
SF

O2
50

0.
22

25
01

1
MH

z

==
==

==
GR

AD
IE

NT
CH

AN
NE

L
==

==
=

GP
NA

M1
SI

NE
.1

00
GP

NA
M2

SI
NE

.1
00

GP
X1

0.
00

%
GP

X2
0.

00
%

GP
Y1

0.
00

%
GP

Y2
0.

00
%

GP
Z1

30
.0

0
%

GP
Z2

50
.0

0
%

p1
5

50
0.

00
us

ec
p1

6
10

00
.0

0
us

ec

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
12

5.
78

03
99

7
MH

z
WD

W
EM

SS
B

0
LB

1.
00

Hz
GB

0
PC

2.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

15
.6

5
cm

F1
P

18
0.

00
0

pp
m

F1
22

64
0.

47
Hz

F2
P

0.
00

0
pp

m
F2

0.
00

Hz
PP

MC
M

7.
89

47
4

pp
m/

cm
HZ

CM
99

3.
00

32
3

Hz
/c

m

N

N H
C

O
2M

e

2b
C

20
H

22
N

2O
2

M
ol

.W
t.:

32
2.

40

Supporting Information S44



0
1

2
3

4
5

6
7

8
pp

m

Integral

1.0255

2.1371

1.0505
1.0124

1.0000
3.2211

2.0301
1.1162
1.1637
1.0693

0.9977

0.9703

3.1081

2.0558
2.9847

ppm
8.85611

7.26992
7.14965
7.13753
7.11665
7.11479
7.10389
7.10210
7.09111
7.08926
6.88904
6.88771
6.87658
6.86424
6.80922
6.79634

3.81420
3.76541
3.06076
3.04309
3.03173
3.02473
3.01290
2.98618
2.97948
2.97255
2.96598
2.96029
2.95276
2.92605
2.91411
2.90416
2.89514
2.89243
2.88663
2.87428
2.85954
2.84753
2.84123
2.82928
2.48585
2.47293
2.46937
2.46627
2.45643
2.44849
2.43695
1.98854
1.98464
1.97284
1.96485
1.96084
1.95656
1.81631
1.80450
1.80070
1.79444
1.78996
1.78361
1.77711
1.42667
1.29461
1.25384
0.84727
0.83502
0.82295
0.81066
0.79917
0.78707
0.77672
0.71017
0.69809
0.68589
0.66222
0.07125

1H
sp

ec
tr

um

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

5-
13

2c
om

bo
EX

PN
O

11
PR

OC
NO

1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

10
27

Ti
me

13
.4

3
IN

ST
RU

M
av

60
0

PR
OB

HD
5

mm
BB

O
BB

-1
H

PU
LP

RO
G

zg
30

TD
97

93
8

SO
LV

EN
T

CD
Cl

3
NS

8
DS

2
SW

H
96

15
.3

85
Hz

FI
DR

ES
0.

09
81

78
Hz

AQ
5.

09
28

25
9

se
c

RG
20

3
DW

52
.0

00
us

ec
DE

6.
00

us
ec

TE
29

1.
5

K
D1

0.
10

00
00

00
se

c
TD

0
1

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
1H

P1
9.

00
us

ec
PL

1
-5

.3
0

dB
SF

O1
60

0.
13

42
00

9
MH

z

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
60

0.
13

00
28

7
MH

z
WD

W
no

SS
B

0
LB

0.
00

Hz
GB

0
PC

1.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

20
.8

1
cm

F1
P

9.
00

0
pp

m
F1

54
01

.1
7

Hz
F2

P
-1

.0
00

pp
m

F2
-6

00
.1

3
Hz

PP
MC

M
0.

43
86

0
pp

m/
cm

HZ
CM

26
3.

21
49

4
Hz

/c
m

N

N H
C

O
2M

e

H

21
C

20
H

24
N

2O
2

M
ol

.W
t.:

32
4.

42

Supporting Information S45



20
40

60
80

10
0

12
0

14
0

16
0

pp
m

ppm

170.94
169.14

143.86

137.45

127.34

121.21
119.80

109.85

95.84

77.48
77.23
76.97

65.78

55.34
54.23

51.32

45.49
44.25

41.47

31.17

28.71

24.13

11.81

Z-
re

st
or

ed
sp

in
-e

ch
o

13
C

sp
ec

tr
um

wi
th

1H
de

co
up

li
ng

Cu
rr

en
t

Da
ta

Pa
ra

me
te

rs
US

ER
co

nn
or

NA
ME

CL
M-

4-
18

1B
EX

PN
O

6
PR

OC
NO

1

F2
-

Ac
qu

is
it

io
n

Pa
ra

me
te

rs
Da

te
_

20
10

04
01

Ti
me

18
.3

8
IN

ST
RU

M
cr

yo
50

0
PR

OB
HD

5
mm

CP
TC

I
1H

-
PU

LP
RO

G
Sp

in
Ec

ho
pg

30
gp

.p
rd

TD
65

41
8

SO
LV

EN
T

CD
Cl

3
NS

15
2

DS
16

SW
H

30
30

3.
03

1
Hz

FI
DR

ES
0.

46
32

22
Hz

AQ
1.

07
94

47
0

se
c

RG
10

32
1.

3
DW

16
.5

00
us

ec
DE

6.
00

us
ec

TE
29

8.
0

K
D1

1.
00

00
00

00
se

c
d1

1
0.

03
00

00
00

se
c

D1
6

0.
00

02
00

00
se

c
d1

7
0.

00
01

96
00

se
c

MC
RE

ST
0.

00
00

00
00

se
c

MC
WR

K
0.

01
50

00
00

se
c

P2
31

.0
0

us
ec

==
==

==
==

CH
AN

NE
L

f1
==

==
==

==
NU

C1
13

C
P1

15
.5

0
us

ec
P1

1
50

0.
00

us
ec

P1
2

20
00

.0
0

us
ec

PL
0

12
0.

00
dB

PL
1

-1
.0

0
dB

SF
O1

12
5.

79
42

54
8

MH
z

SP
1

3.
20

dB
SP

2
3.

20
dB

SP
NA

M1
Cr

p6
0,

0.
5,

20
.1

SP
NA

M2
Cr

p6
0c

om
p.

4
SP

OF
F1

0.
00

Hz
SP

OF
F2

0.
00

Hz

==
==

==
==

CH
AN

NE
L

f2
==

==
==

==
CP

DP
RG

2
wa

lt
z1

6
NU

C2
1H

PC
PD

2
10

0.
00

us
ec

PL
2

1.
60

dB
PL

12
24

.6
0

dB
SF

O2
50

0.
22

25
01

1
MH

z

==
==

==
GR

AD
IE

NT
CH

AN
NE

L
==

==
=

GP
NA

M1
SI

NE
.1

00
GP

NA
M2

SI
NE

.1
00

GP
X1

0.
00

%
GP

X2
0.

00
%

GP
Y1

0.
00

%
GP

Y2
0.

00
%

GP
Z1

30
.0

0
%

GP
Z2

50
.0

0
%

p1
5

50
0.

00
us

ec
p1

6
10

00
.0

0
us

ec

F2
-

Pr
oc

es
si

ng
pa

ra
me

te
rs

SI
65

53
6

SF
12

5.
78

04
00

1
MH

z
WD

W
EM

SS
B

0
LB

1.
00

Hz
GB

0
PC

2.
00

1D
NM

R
pl

ot
pa

ra
me

te
rs

CX
22

.8
0

cm
CY

23
.6

9
cm

F1
P

18
0.

00
0

pp
m

F1
22

64
0.

47
Hz

F2
P

0.
00

0
pp

m
F2

0.
00

Hz
PP

MC
M

7.
89

47
4

pp
m/

cm
HZ

CM
99

3.
00

32
3

Hz
/c

m

N

N H
C

O
2M

e

H

21
C

20
H

24
N

2O
2

M
ol

.W
t.:

32
4.

42

Supporting Information S46


